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|
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1.  Ason 1% of January, 2024, who is the Speaker of Assam Legislative Assembly ?
(A) Hitendra Nath Goswami (B) Numal Momin

(C) Biswajit Daimary (D) Rupsing Teron

1. 15 SERS], 2024 ACATE ST [RUFPTSR ST (@ 2

(A) Terom Fie (AT (B) TINE (N
(C) Rufee st (D) IR (G
1. 13 ST, 2024 ACATE ST REPToR Sk (& 2
(A) Terom Fiel (AT (B) (A& Wi
(C) Trfers trwifa (D) FePR (B
1. 2024 HEAEMN 1 SR SfArTHE 6™ SRYS], SIYAH Fafier 9r ?
(A)  Tedwe e (B) THA WfA
() fovafaa Smdt (D) ®ufd W
1. 1 STe, 2024 1 oT8H faum 991 & 7598 HiF © 2
(A) fedee T (B) TH Wi
(C) faversia <A (D) ®ufET A
2. In which of the following, cash amount can be withdrawn ?
(A) ATM (B) NEFT (C) UPI (D) IFSC

2. fI=fole @GR [ Fom 47 Tfera iS¢
(A) «fbaw (B) «wz9wfo (C) TR (D) =29FaED

2. N @S 9% BIRFl ColeTl TR 2

(A) «fbaw (B) «wzawo (C) TTforeg (D) wgaTGHAm

2. T U Bl MREM Sef R foga g ?
(A) T (B) TASTHT () THieTs (D) STETHTHH

2. Tohe ¥ FEfafeg § 9 fag W fHenrer S gt & 2

(A) T (B) TTRTw (©) freme (D) STETHTEE
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3.  After picking up his passenger at the office, the taxi driver drove six kilometers before he turned
left at the post office. Then he drove for eight kilometers to arrive at the airport. By a straight line,
how far is the airport from the office ?

(A) Ten kilometers (B) Twelve kilometers

(C) Eight kilometers (D) Fourteen kilometers

3. (Gf3 Do o FROETS G P SleTe ©fl = iR «ie wifsgs S T «itte), T (o
AETIE IR o FERGR o2 i R [ awe AAwte | S o[ [{5e aw<ee @RS @y

e 2
(A) W RRCAIRGE (B) 3 Fe=AlfsBR
(C) =1 FEfoR (D) 41 RFCeAIfSoR

3. SIRACT ORI AE! (O 21, B BIeTs (PG SIfRpeo 1 css (TS (111t =iieal = fReeaAifwo e #M1f pifercafest |
Sl SI1G FCEAIRGE 9IS BIfeTe (1 RSN CoTTeRl | SRR, ST (A [ews % e 2

(A) W FCEToR (B) I FCenoR
(C) G fFeetifEGi (D) Im Recenfsom

3. UM TEEEi@ aegfatme e 98 dw e sEan 6 R fa mieh g < T e fo
sfafy frfdam | faft e 8 fo.fa. arememm foril fore’ meimme ditkema | oS Aagfaftee foe’

MAARTH o T ?
(A) 9 fe.fa B) f& 7w
(C) <A fofa (D) T3 fwfm

3. AT H 39 AGH I T F oG, S HIereh SEER | 98 ged § Ul 9% fhariel =en | R 9%
TATE T3 W UgaH o T 37 fohaimiex 7o =t | Uk it T 9, wmferd 3 gare o719 foradt W e 2

(A) TH T (B) ©IRE fer.H.
(ORECREX: (D) wires fRA.
4.  If Raghu says that his mother is the only daughter of Himadri’s mother, how is Himadri related to
Raghu ?
(A) Brother (B) Maternal Uncle (C) Grandfather (D) Son

4. IMIYE I @ (€T Y AT A93 I GRS (0T G I7 GICo & A7 AF© 29 2
(A) 9 (B) = (C) Tl (D) =9

4. I AGIE @ O W il em @G T, oree Ruifew 799 e [ ok 2
(A) s (B) I (C) foromz (D) (=&

Paper-VIA 7 P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

Sfe Tgen gt fe fafq foumn femfs fomt wme’ frarsh, T femfee @1 9 € 2
(A) ™ (B) fomm (C) fe=it (D) fwaTen

Ifg T Fedl © T 3! A femfs &1 o =t e 9t 8, o1 fewfs =1 7 @ o1 Hoig €2
(A) W (B) Hmm © T (D) e

Which of the following punctuation mark is missing in the sentence ?

Rakesh suddenly said, Last night I heard a fox howling.
A) {1} B {1 © "7 D) {1}

What is the antonym of SLOW ?
(A) Fast (B) Reverse (C) Side (D) Upwards

What is the opposite of BEAUTIFUL ?
(A) Dirty (B) Unruly (€) Handsome (D) Ugly

Which word is incorrectly spelt ?
(A) Possible (B) Permission (C) Pressure (D) Posess

The count of prime numbers between 1 and 20 is :

(A) 7 (B) 9 (C) 8 (D) 10
13 731 20 &1 GNferss FRPTRS o 916 ¢
(A) 7 (B) 9 © 8 (D) 10
1 (ACF 20 GF N GTEF TR s 247 ¢
(A) 7 (B) 9 (C) 8 (D) 10
1 3R 20 1 TR e SAfSHrEn gHed ?
(A) 7 (B) 9 (C) 8 (D) 10
1920 % = A9 et &) fimdr ©
(A) 7 (B) 9 (C) 8 (D) 10

10.

Which word is incorrectly spelt ?
(A) Expert (B) Carpet (C) Dapart (D) Puppet
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11.
11.
11.
11.

11.

A number when increased by 11% becomes 777. The number is :
(A) 770 (B) 750 C 710 (D) 700

(RGBT AR 11% Jian FRCET ARG e 777 T | FRACBI (202 ¢
(A) 770 (B) 750 Q) 710 (D) 700

@G AL 11% I IR0 777 2 | A 297 ¢

(A) 770 (B) 750 (C) 710 (D) 700
Y ATTHRET 11% BR aRETse 777 S| o S -
(A) 770 (B) 750 (C) 710 (D) 700

T T 916 11% | 9% St € 1 777 8 St §1 98 §e ¢
(A) 770 (B) 750 (C) 710 (D) 700

12.

12.

12.

12.

12.

Moreh (Manipur) is a road connection point of India with which country ?
(A) Thailand (B) Nepal (C©) Myanmar (D) Bhutan

(NEZ (Vf49j7) SRS (ICS (I (1T FI2 TR FeT 2
(A)  BETS (B)  IolIet (C) R (D) ©oN

(EZ (A9) (&I (TR AN SIS G0 TGS TP B 2
(A)  2ZETe (B) (A7MIe (C) ST (D) OO

7Y (HfUR) 3T 9N TR o SIeX 1 e fomai 2
(A) TEeITe (B) T (€) ¥R (D) 4

T (AIGY) 9RA 1 fFE 0 % Y TS Hueh fog 7 2
(A) oS (B) U@ (C) ™R (D) e

13.

Which word of the following list is not a pronoun ?
(A) He (B) She (©) And (D) They

14.

14.

The sum of two numbers is 12 and the difference of their squares is 60. The difference between the
numbers is :

(A) 3 (B) 5 © 7 (D) 9

V! TR 91T 12 iR A2 HOIF 3919 “A12f 60 | AN UoIF A1 ¢
(A) 3 (B) 5 © 7 (D) 9
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14.

14.

14.

9% TR (@I 12 G3% SN 05 A1 60 | TR 7oA A1 227 ¢

(A) 3 (B) 5 © 7 (D) 9

T SHRTEI STeerTEa 12 3T fodRf srifa Sea A 60 o SHRSET BT g e -
(A) 3 (B) 5 © 7 (D) 9

S ST w1 AN 12 & 3T I o1 o1 SAd 60 T 1 HEATSAT o o9 1 AW :
(A) 3 (B) 5 © 7 D) 9

15.

Which language name is correctly spelt ?
(A) Franch (B) English (C) Porteugese (D) Spenish

16.

16.

16.

16.

16.

Where was the first capital of Ahom Kingdom established ?
(A) Rongpur (B) Garhgaon (C) Charaideo (D) Guwahati

S AFEHT 4L el F'© Bifore e 2

17.

17.

17.

17.

17.

(A) R9F (B) ar@aife (C) BIEMe (D) @G
N G AL A (Fie Fifors =7 ¢

(A) W (B) orweite (C) wakRwme (D) &TZGY
e g MeER fifafas v arefrEt ser e ?

(A) I (B) TemE (C) =Ed (D) TR
3TRIH TUH hl TScll TSIMTHT Shal T ohi TS off ?

(A) TR (B) T (©) TESS (D) o
Which of the following was not a ruling dynasty of ancient Assam ?

(A) Maurya (B) Varman (€) Pala (D) Koch
R Tyeg (@NTH! 3¢ AT SPT =97 3¢ i 2

(A) Gt (B) T (C) =& (D) 6
ey Srafiesferm @R A6 P =E e oo @t 2

(A)  oF (B) (C) =& (D) &b
MRS BHE o6 TShlo e e STHHE! 9T Wi ?

(A) (B) A (C) (D)

frafafed § 9 wF-91 9= 3T9H k1 WEe TS6 9 6l o ?
(A) (B) oA (C) (D)
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18.

What does ‘fair’ in the sentence “They played a fair match” mean ?
(A) Very long (B) Within the rules
(C) Breaking many rules (D) All players are seniors

19.

19.

19.

19.

19.

If the number 47329 is doubled, what would be the digit exactly in the middle of the result ?
(A) 6 (B) 7 ©) 4 (D) 5

47329 TGRS F¢ FRCE FAFADR 05 Eliers 24F Sk 527 2
(A) 6 (B) 7 € 4 (D) 5

T 47329 7 Twe 1 =, ©izcel TelweEd 0 MREE S=b T 21 2

(A) 6 (B) 7 Q) 4 (D) 5
e 47329 W T6H W], TSRRTES S oAM= 976 S ?
(A) 6 (B) 7 Q) 4 (D) 5

g TE& 47329 1 AT e S, o ufkoms & S ote B e 91 sk a2
(A) 6 B 7 <€ 4 (D) 5

20.

20.

20.

20.

20.

What type of horn is permitted in a vehicle in India ?
(A) Multitoned horn (B) Electric horn  (C) Air horn (D) Any type of horn

TSI G2 IS (FIHE el Sefrs 2

(A) IZIE el (B) Cagfss el (C) g Mt (D) T @I K= el

SRS G35 IR Tl FT AR el () SRS 2
(A) IDER el (B) Afes fiel (C) Iy el (D) @ (I &=eei el

IRATe /1 T@H S MRATE SRR T € 2
(A) TE-TEiTEi (B) HifsgemREM  (C) aR-TMigH (D) SEfEsTEH

IR H fordt amed § fhe YR o &4 ot s1Afd 82
(A) TS B+ (B) sciferrsh B (C) THEH (D) foet off goR & &+

21.

How long is an applicant required to wait to apply for driving licence after he has obtained the
Learner’s Licence ?

(A) 30 days (B) 60 days (C) 45 days (D) 6 months
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21.
21.

21.

21.

9/ AT AN FABGH 2D T 2lge GIZeR ARG A SN IR G& SAEACE JeTosl
TR 301 SICof5e] B 31901 & 2

(A) 30 = (B) 60 fre (C) 45T (D) 63

IR RS SRl ofd (FF AR AT 79 GFG SIS B Sl Stad (Giafes
2O S T Gy IS el S| IR ATAGH 2

(A) 30 = (B) 60 = (C) 45 = (D) 63

M TR 1S ARE AR o8 Mera S99 Sy Asd-a arE@ 3RS foade 8M g8rl ?
(A) | 30 (B) M 60 (C) WM 45 (D) TF6

g ATH ST ARHT & T q& T TG Tal X Gohal 5dl qoh STk I Y ¥ Y 3@y & fo
TR ARHT T 2, 9% A T

(A) 30 fem (B) 60 fe (C) 45 fem (D) 6 HAfed

22.

22.

22.

22.

22.

Which of the following is an output device ?
(A) Keyboard (B) Speaker (C) Mouse (D) Microphone

RIS s @FINCG! 96! ST fTeigh 2

(&) FIE (B) TPl € wieR (D) wEEFw
A (@0 @0 SNTH2[G 77 2

(A) IS (B) Fwie= (C) =iTA (D) SR
MR o HiTd HHhT SIATS] (3T82qd fQUEs) ?

(A) &g (B) T (C) W= (D) HIEH &’

frafafed § @ FF-91 T eeye fearsy €2
(A) wErE (B) &Ry (C) W= (D) TSR

23.

What single word would mean the same as “the base frame of a car or bus, or any such wheeled
vehicle” ?

(A) Framework (B) Chassis (C) Cabin (D) Monocoque

24.

The flag of which country is triangular in shape ?
(A) Brazil (B) Kuala Lumpur (C) Sri Lanka (D) Nepal
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24.
24.
24.

24.

@I (R TSR Aol fageigies ¢

25.

25.

25.

25.

25.

(A) e (B) JACACTNT Q) AerHl (D) Tl
@ (TR Ao <IigTs fagaiai 2

(A) e (B) FRETAN Q) =iz (D) A&
7 greX frfthetrn smanfreremy wetf ?

(A) ST (B) eI YT (C) Hicieht (D) U
o <31 A1 ZieT TIehToig ST & & 2

(A) SIS (B) JETATAGX (C) et (D) =9
Who wrote Arthasashtra ?

(A) Brahmagupta (B) Swami Vivekananda

(C©) Raghuram Rajan (D) Chanakya

g (@i R e

(A) Fmad (B) = R

(C) <IN & (D) BloRy

T (& forcafecE 2

(A) T=wY (B) FI Rslew

(C) AT (D) BIee

TSRl AR faErEE ?

(A) T (B) @y foeiehr<

(C) TH TSH (D) <TIH

refeme foran foran ?

(A) AW (B) @M foeerr<

(C) T TS (D) <RI

26.

26.

The numbers that cannot be expressed in the form of fractions are called :
(A) Whole numbers (B) Recurring numbers
(C) Prime numbers (D) Irrational numbers

ST oIS AT FRA @RFN FRAERTE @I 27 ¢
(A)  spefran (B) (TN et
(C) GNferss 1A (D) ARG R4
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26.
26.

26.

(RIS SARN e AP 9 IR O 0T 8

(A) oEe 72 (B) ©I® A

(C) GNfer 714 (D) SRCT R4

S SHfSTHRE SrereE) wel ferr g, fodrat eI
(A) 3T SRS (B) SIS
(C) =1 sl (D) TSI s
J wead 5 il & &9 H o7a 72l fohan ST weha, sheatrdl € -

(A) Tl gen (B) 3Tt Hem

(C) 9 §& (D) STURH" HE&

27.

27.

27.

27.

27.

A man types at the rate of 45 words per minute. How long will he take to type 555 words ?
(A) 12 min 15 sec (B) 12 min 20 sec
(€) 12 min 30 sec (D) 12 min 45 sec

e g eAfSRIHGS 45 *71 5igst Ff 9I1t7 1 555 Bl *[ 5izsl TR (9E€F 2T (R 7o ¢
(A) 12 ff5 15 e (B) 12 fif¥5 20 e
©) 12 TS5 30 mre (D) 12 G 45 e

GG e 2ife NG 45 =1 51291 @ | 555 ¥ G129 FACO O T© 7T 15T 2

(A) 12 W5 15 Cee (B) 12 WG 20 Gie
(C) 12 W5 30 Ce (D) 12 WG 45 CPe
8 AHRGA |1 45 Gire/ fafTerd 2a §H 3@ | |/ 555 SRt 2 gl foAl 98 99 A 2
(A) 12 fafte 15 I%=< (B) 12 fafte 20 Th<
(C) 12 faf1e 30 Th= (D) 12 Taf1e 45 Th<
T ATCHT 45 W Gfd fAe Al <X 9 29 T €1 39 555 I8 2T hid | foha1 T9T o ?
(A) 12 fie 15 Qe (B) 12 fHTe 20 Wehe
(C) 12 fie 30 Wehe (D) 12 fHe 45 Wehe

28.

28.

A number when multiplied with 1111 results in 7777. The number is :
(A) 7 (B) 17 < 70 (D) 77

@1 AP 1111 (I 2= FRCeT 21 5f<0ree] (0= 7777 | AL (7R ¢
(A) 7 (B) 17 (C) 70 (D) 77
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28.
28.

28.

B ALACE 1111 B B T Follzre] 7777 T | 746 o4 ¢

(A) 7 (B) 17 (C) 70 (D) 77
Y TG 1111 S GHSTsse 7777 SR | o S |77 2
(A) 7 (B) 17 (C) 70 (D) 77

Teh H&A 1 1111 9 70N F=H R 7777 I eIl & | 98 T&A ®
(A) 7 (B) 17 (C) 70 (D) 77

29.

29.

29.

29.

29.

Who was the commander of Koch King Naranarayan’s army ?

(A) Raghabendra (B) Chakradhwaj (C) Tingrai (D) Chilarai
(O] TR G GRi#fe @I S 2

(A) SEEH (B) bewRE ©) focalz (D) oo
& (@5 G TR R Ciolfe fewew 2

(A) SRCTH (B) v&we ©) foaiz (D) foem
T TSl AAREA TEY TR 9 ?

(A) TEe= (B) kA ©) fim (D) faemm
I ST AR St A1 % FAMafd &E 9 2

(A) TR (B) wHhEAS (C) TimE (D) ToemmE

30.

30.

30.

30.

30.

Oja pali is a religious component of which region of Assam ?
(A) Lakhimpur - Dibrugarh region (B) Silchar - Karimganj region

(C) Haflong - Hamren region (D) Mangaldoi - Nalbari region
GG SPTR (I ST GF LR THAWME 2

(A) TTR7F - [TI91C wizee (B) f*IeTox - Ffw9lg wizea
(C) IR - BSCI OI=es] (D) SN - RIS S
SN SPICR (M SIRER (6 T SBR 2

(A)  =EFI5R - fCale oreea (B) MreThd - SR wi=ee
(C) eI - B SI=es] (D) oI - TERIMG See]
ST STHME o6 S JiTd SRR AR TfeHe ?

(A) wEEY - fegme (B) faerr - =S

(C) =% ~ THE (D) Tere — TRy

ST UTell 2799 & fohd &1 &1 T ofieh e © 2

(A)  wrEmR-fegg & (B) foeT=R-+IWIS &=
(C) TRATT-THA & (D) WIERR-Aaare! &=
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31. What is the synonym of BRAKE ?

GET IT ON
Google Play

(A) Parking (B) Slow (€) Clutch (D) Gear
32. Find the value of 18 —[6—(4+2)] —5.

(A) 9 (B) 16 (C) 13 (D) 11
32. 18—-[6—(4+2)]-59 3 3

(A) 9 (B) 16 (C) 13 (D) 11
32. 18—[6—(4+2)]—5 @ N {7 74|

(A) 9 (B) 16 (C) 13 (D) 11
32. 18—[6—(4+2)]-5 T A fg :

(A) 9 (B) 16 (C) 13 (D) 11
32. 18—[6—(4+2)]—5 1 HH T hL|

(A) 9 (B) 16 () 13 (D) 11
33. What is the Collective noun for bananas ?

(A) bunch (B) pack (C) bouquet (D) bowl
34. 2% of 3% of 5000 is :

(A) 5 (B) 3 © 2 (D) o
34. 50009 3% 9 2% (2R ¢

(A) 5 (B) 3 © 2 (D) o
34. 500099 3% <499 2% 27 ¢

(A) 5 (B) 3 © 2 (D) 6
34. 5000 T 3% 1 2% o1 <G ?

(A) 5 (B) 3 © 2 (D) o
34. 5000% 3% W ¥ 2% ¥ :

(A) 5 (B) 3 © 2 (D) 6
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35.

35.

35.

35.

35.

In India, a vehicle is driven on the

(A) right side of the road with the driver sitting on the left side of the vehicle
(B) left side of the road with the driver sitting on the right side of the vehicle
(C) right side of the road with the driver sitting on the right side of the vehicle
(D)

D) left side of the road with the driver sitting on the left side of the vehicle

CITeIFS e T l

(A) IBVE CIFICE HETRI T S BTG SNG 1R AETFIE AR AT |
(B) BT AEGHICHA SCEARI W SR HIerFen MBI GHeICe Af2 AT |
(C) IBVR GEIFICHA SR T S BIerren 9lCHE (HFice MR A |

(D) JBR IASTIE HETRI T AR HIERFGH 2CIT AETHIE A2 AT |

TIRCS @I A B =7 ]

(A) AW CINMCP SN HIeRs I0 AR TR AW
(B) IR ANMCE SR HIeRF I07 AT Tl
(C) FVIF CINMCS SN HIERF 07 AL CIRMCS

(D) IR MC SN HIeTR I07 AT AU

IRATE H M |

(A) I SAFTGIY FIeTrl SR SR MR Safe fwe |
(B) TATHIM STNTRATY HIeTal STRI W= MR SAFTRI 5 |
(C) ATHIM TSI AT STRI Srerraman MR swerel fowrn |
(D) AT STRTRATY AT SR ST MR srafel fowm |

RIS RIIELTICS IS 1 S

(A) USH & TR AR, 3R =1eTh T & 9 AR 53T 7 |
(B) WESH & TS 3R, IR AT AT & T[E AR 931 B |
(C) USH o TR 3R, IR ATt A & < AR 931 T |
(D) TSH & T 3R, IR AT a1 o a8 3R ST & |
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36.

36.

36.

36.

36.

When TANK is coded as KNAT, then what would be the fifth letter if PROCESS is coded in the
same way ?

(A) C (B) E © © (D) R

T TANK & KNAT (@ F'C F4| 27, (S90S ¥ F'T6 PROCESS F #1fRITeT 3017 #1265 (51 5 29 2
(A) C (B) E © o (D) R

I TANK @3 #ofetfsl KNAT 2, ©&@ PROCESS (3 UB3SIE ALFO TS BT O 212es 9w
NI ?

(A) C (B) E © O (D) R

€ TANK Bt KNAT %€ @], 3fsell PROCESS ®f TE Fe @ieimsen faf anfer giwhen 71 S ?
(A) C (B) E (C O (D) R

I TANK &l KNAT & ®9 H hifed fwar S 8, d PROCESS &1 39 YR whifed fhT S W, SHH!
i< 3T&R 31 31T 2

(A) C (B) E © O (D) R

37.

37.

37.

37.

37.

In which event did Neeraj Chopra win Gold Medal in 2020 Olympic Games ?
(A) Discus throw (B) Hammer throw (C) Shot put (D) Javelin throw

2020 eI/ (AT TG (GI2E (@R (4TS @R “vF e FRRe ?
A Tz’ (B) =N’ (C) #5670 (D) (eCelm &

2020 SEAAF SO @I AT (30F) e (Glofe! Fefom oo 2
(A) T e (B) ==Y (C) %570 (D) (Srefer &

2020 snfafaeh SeEAEE TS TR 9 T T Jed Qe ?
(A) feo=wm g (B) ®BURY (C) LY (D) Sivfed o

st =S A 2020 i Tl § forg 99l § w9l ggeh i ?
(A) fewrm ot (B) T (C) Wege (D) Stafers o
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38.

38.
38.
38.

38.

First serialized on social media and then published as a book, Life of a driver : Cabin’or Ipare is
written by :

(A) Pratibhu Dutta (B) Rupam Dutta (C) Debabrata Das (D) Ramanuj Goswami

AT ANET Mg (RRAIRTFOE, (PR Folvl SNFE R @R M2F 97 g GO & (FRaT 29T
Fel7ie o1l gheed ¢

(A) efsg we (B) Fol7e Q) RS (D) IS Cafrgrn

AT AT T QIR B S @< Sresod 93 2 avifie g6 /3% o72F @ G139l ¢ (Flead
B AT

(A) dfsg we (B) FITE Q) &S wA (D) S Colrgrs
ffsrma wifede fafearme wik wfiE o faft s fasmaft w foga Smm fosme amew 9% @ g :
Ffer7 ¥ 2R Wi GR fa g -

(A) wfay<a (B) ¥9H T (C) <eed T (D) IS Tt

ool GNTel Hifed R hues, 3R fh Uk J&dsh & 9 | YRV, TE® 3% T STEav : a7 391 fhas
3 fore 7§72

(A) wfay<sa (B) 99 T (C) <dsd T (D) IS Tt

39.

What does “apple of one’s eye” mean ?
(A) Target for practice (B) Special favourite, beloved person or thing
(C) Most hated person (D) A sincere and loyal person

40.

40.

40.

40.

40.

The place value of 2 in 4213.6 is :
(A) 213 (B) 2 (C) 200 (D) 20

4213.6 S 2 F BN T 2
(A) 213 (B) 2 (C) 200 (D) 20

4213.6- (S 2 & FIIF %7 3

(A) 213 (B) 2 (C) 200 (D) 20
4213.6 A9 UHME 2 T A= 71 fegT :

(A) 213 (B) 2 (C) 200 (D) 20
4213.6 H 2 1 TJHIT M ¥ :

(A) 213 (B) 2 (C) 200 (D) 20
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41. Which of the following should not be in the same group ?

(A) Paper (B) Eraser (C) Pen (D) Textbook
41. FERIS @G 90! AN LG SHbe 2

(A) o (B) & (C) T (D) =itysif
41. TR (A G (DI Al Tho 77 2

(A) ol (B) YRR (C) T (D) =itgsif
41. &6 HEYAT IS Ol ST ?

(A) TER (B) EEIHN (C) e (D) et
41. Trafafed § 9 ®F-91 T & 998 | @ o afed ?

(A) =TS (B) & (©€) A (D) TISIIEh
42. Which of the following items is related to works by Sir Isaac Newton ?

(A) Rocket (B) Atom Bomb (€) Semiconductor (D) Automobile
42, RS (S BR AZSE WOGTR S (IS A~ 2

(A) T (B) &GN @I ©C) s (D) w5z
42. A (IO I AZEIE HEHER e A T{Fo 2

(A) =5 (B) SefE @™ (C) SRRl (D) 57 aifS
42. TR e ST HR SR e HH<] g ?

(A) The (B) TWeH o (C) Uff w<eRex (D) 31 'HageA
42. Trefafed § § FH-H W TESF <A & Fiadl 9 Fafyd g2

(A) Tehe (B) WA & (C) Uriishga (D) e
43. Which of the following set is incorrectly matched ?

(A) M:13 (B) S:20 <G W:23 (D) K:11
43. WHERS @G (9T 9w T aferel Y&l IR 2

(A) M:13 (B) S:20 (C) W:23 (D) K:11
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GET IT ON
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43. I (I WEAD TSI (AN IR 2

(A) M:13 (B) S:20 (C) W:23 (D) K:11
43. TIRIS SRE AARAR fog -

(A) M:13 (B) S:20 € W:23 (D) K:11
43, freAfafed § @ SF-91 92 Tora gaferd § 2

(A) M:13 (B) S:20 (C) W:23 (D) K:11
44. Which of the following is the highest mountain peak of India ?

(A) Everest (B) Annapurna (C) Nanda Devi (D) Kanchenjunga
44. RIS (GG O Thos Aozl 2

(A) GOIES (B) wmmsiefi Q) Twiwmal (D) SlewerRal
44. KA @FED ST A AL 2

(A) 9o (B) s (C) W (D) Fleeeiedt
44. A SiteA grommn et -

(A) THRE (B) r=Tqul (©) F=reet (D)  herrsten
44. frfafed § § FH-W TRA H ToH HH 960 = © 2

(A) TEE (B)  3T=Tquit Q) 13 (D) eI
45. The average of first ten consecutive natural numbers is :

(A) 5 (B) 6 (G 5.5 (D) 6.5
45. 22 w2D! T FrSIRF AR TC ¢

(A) 5 (B) 6 (C 5.5 (D) 6.5
45. 2 I FHIE T RN T 257 8

(A) 5 (B) 6 (C) 5.5 (D) 6.5
45. RIREE SHE faitas 7m 15 5t smAfSmmRRi sspemn

(A) 5 (B) 6 (G 5.5 (D) 6.5
45. YW TH HUNTT Wihfask Hemedi &1 3fed € -

(A) 5 (B) 6 (C) 5.5 (D) 6.5
46. Dangerous driving means :

(A) Jumping a red traffic light (B) Violating stop line
(C) Using phone (D) Any one of all three
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46. ol SNC) Slel FIF (@61 &7 2

(A) < Gl o125 SR (B) B TIRGS T

(C) IR IR (D) fofgbR [ @It @bt kEfbw 2w
46. TRofeee ST HIE (CTGRP Gigfe) 610 (R ¢

(A) = Gifes e SRt (B) Bl 7IeN F1eq

(C) PN TIRFA (D) feafoa @ @ie @

46. Tirq-=nqg MR AR iR -

(A) Tiren Rk afergt A (B) ¥ @A Wi

(C) I FRERR (D) ¥ 3 1 TSt A Sirec
46. WA grEfaT & e ®

(A) e IR ot e (B) &Y WE Rl Socio shil

(C) I I ST LA (D) < H 9 HE TH

47. Which of the following numbers has the highest digit in Tens place ?

G 736 (i) 269 (iii) 958 (iv) 219 (v) 793
(A) (v) (B) (i) © (i) (D) ()

47. TIREIRS @R AT 7ZF ZTS I TeF SRFCH! TR 2
() 736 (i) 269 (iii) 958 (iv) 219 (v) 793
(A) (V) (B) (i) © () (D) ()

47. IO (I AR T BT AR OF AR ?

i) 736 i) 269 (i) 958 (iv) 219 (v) 793
Aa) (B)  (iii) ©) () D) @

47. TEEMA ¢ sHfSER g 9 e i faam 2
i 736 i) 269 (i) 958 (iv) 219 v) 793
A) ™ (B) (i) ©) () D) @)

47. Trafafed § & forg den &1 oF w@E & WH R 999 31y 772
i) 736 i) 269 (i) 958 (iv) 219 (v) 793
Aa) (B)  (iii) ©) () D) @)
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48.

48.
48.
48.

48.

How can you distinguish a Transport vehicle from other vehicles ?

(A) Looking at tyre size (B) By the colour of the vehicle
(C) By vehicle size (D) Registration number plate
ATRILT AT GLTF (P! LU 57 T S A2 90 2 2cF B SRR 21F 2
(A) BRIRS SR (B) IO <=6l

(C) SR SIF (D) AGRW T oI

Sy ST ACATE 1 (red SNl sl e fofes wce AR 2

(A)  BIPI SIPT (7 (B) NCT A& @il
(OERICEA IS ERE (D) “GRW T T

TG g el MG oA MREBRA Ts)ra 7rsl e 2

(A) <ERM SRUFE! THAH (B) TR Ter@l A&

(C) TR RS (D) Tf=TEe TR el

T UREET 18T ®I 3T ATl § h ST i ?

(A) TRR % SATHR hl SEH (B) @A %

(C) dMEd % SHR 9 (D) YSieR HE& wie g

49.

49.

49.

49.

49.

Identify the combination similar to :
Tyres : Round : Black

(A) Trees: Green: Tall (B) Windows : Glass : Square
(C) Pipes : Round : Plastic (D) Bricks : Rectangle : Red
BRI ¢ TR ¢ 7 - G2 TFF T I TR (S 16 ool 7 |

(A) oTesiRl 3 GIOGR & e (B) RiffE ¢ 6 g af

(C) =izt s gl ¢ 2R (D) 25! ¢ SRTORFIF 2 T8l
SR AN TG e

BIAl ¢ CNETIPIE ¢ Pl

(A) T% ¢ 7S 2 TR (B) M ¢ F6 ¢ Ao
(C) @ 2 (alleTeId ¢ 2GS (D) 5 ¢ SO 2 &N
AR : R : TEH - =rafe 1@ Yera! famm -

(A) foreRt : et : Tirsi (B) f&f@ : sme: =i
(C) Y : S : @i (D) 3T : 3T : T

TR : A : HTeAl -~ S T S ! TedH |

(A) US:TU: Gl (B) Tarsfrar : #iw : 9R
(C) =Y : e : Wl (D) %< : 3Md : &
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50.

50.
50.
50.

50.

What is the minimum required educational qualification for obtaining driving licence to drive
Non Transport Vehicle ?

51.

51.

51.

51.

51.

(A) Class VIII Pass (B) Matric Pass

(C) Class IX Pass (D) Not Mandatory
SHfAIEE e QiR ARG 2IRT A ARSI Jow HFiers oLel 120z 2
(A) OB =T &l (B) T S TElf

(C) = (=T Tl (D) =4l TR

R AR DA Sl g (iR ARE™) 21STF G ARG Porosl KRS (@isrel F1 2
(A) =R (T BElel (B) (IT= TE

(C) T (= Tl (D) GORERS T3

T WAl 7S MR WA 9@ STei ARd=a feg = arsTsen o orai e 3 o o 2
(A) @l TEA A (B) Hfeeh 3o

(C)  wmEt T I (D) THIER AT

TR-qfee e 9o ¥ SRl aedy & fo Siefore e ot sTevaehd ¢
(A) heT TS U™ (B) Hfew T

(C) heT el 9| (D) AfFerd =&

Which country is Hollywood in ?

(A) United States of America (B) England

(C) France (D) Japan

(L (T 20T SRIFS ?

(A) ST JSA1E, (B) ko1

(C) =™ (D) @Il

2feTTT (FF (0 SAE 2

(A) W TEE (B) Eeemle

(C) T (D) &I

gfetgar el g1eyd ?

(A)  AHRERT ST BT (B) To-e

(C) Wy (D) ~mae

Fefge fFE M H § 2

(A) I T ST (B) IMIS

(C) wH (D) SMHE
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52.

52.
52.
52.

52.

Which of the following is not a region of Assam ?

(A) Brahmaputra valley (B) Karbi plateau
(C) Barak valley (D) Deccan plateau
R (@G SPRR G S 928 2

(A) TG TAGH (B) S eref™

(C) T ool (D) wifseirey SeTg ™
TR (TG TP G5 S 77 2

(A) TG A (B) S ersf™

(C) A Toierml (D) WIFFNTSR ETgf
MMM o= AEEA AHA ST 2

(A) SRS B (B) IS SiRMA

(C) =& TEA (D) <eRR S
frefafed & 9 wF-91 79w #1 & & © 2

(A) SR SR (B) hIel U8R

(C) <k =l (D) SRR 1 Y8R

53.

53.

53.

53.

53.

The minimum educational qualification required for a bus conductor licence in Assam is

(A) Class VIII Pass (B) HSLC Pass

(€) Class IX Pass (D) Not mandatory

SRS A FUIIT (2IfTBIF) T T AR A LGNS T JeTon e TZo! (202
(A) =@ (=T TEl (B) =EFH frweig 291 Telef

(C) == (=T el (D) QTSI T2

SRTCH AT ARG (PEIF) Seel i (N2 211G ST R o] fRiafe (Flaol 2e1 |
(A) 1B T &l (B) =EFe g #r Tl

(C) T =T T (D) TSI a7

TS ITH HUSTRR AEH fogHl Er aHA arSTee Hiendrm A7 o S
(A) omE TR 3REE (B) Hfesw 3y

(C) wmEt T I (D) THIUR TS

AW H 99 SHedel aedd & o savas <Ay Sk e 7
(A) Sl et aH (B) T TH TA § U™

(C) e et U (D) AfTer =&
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54.

54.
54.
54.

54.

Validity of driving licence for drivers of goods vehicle carrying Dangerous and Hazardous goods is

(A) 1 year (B) 2 years (C) 3 years (D) 5 years

Romem< SR FoFRF AT FHE IS BIFFa FiafeR ABGRS (F40[ W (2R
(A) 1= (B) 2= (C) 3= (D) 5=

Roiegms 3R 2ATFTSF AN #Ifa2 T AL BT el #Aad (Giafe: i3e™) Gram =5
(A) 13=R (B) 23R (C) 33A (D) 53

- 919 3T WIS SHICHR TS HeR MR AR gefy argd=af seremf foaw T
(A) 9ER1 (B) IER 2 (C) @ER3 (D) WER5

AT 3R SIEH 90 9ME of S 9ol AcdTesd died o el & ot Sfan oegdd & Jud safy §

(A) 1= (B) 2= (C) 3= (D) 5ad

55.

55.

55.

What is generally considered as proof of casting vote ?

(A) Tick mark against name on Electoral Rolls (Voters List)

(B) Mark of indelible ink on finger nail (or other body position)
(C) Possession of Voter’s slip
(

D) Permission to enter voting booth

(FINCEIT ARETS (SOnE 2ol f2pIca aiely 1 27 2

A) TRl oifere (CSIbR Sifeie) © a1 KeiSice s@l T
B) SR 92 (A *FTT o7 Biwe) WD @Rt HRiRR B
C) (SR sl wer 2l

D) (6 (FTS YR SRS

(
(
(
(

AYIFre (Sio FeTF 2Nl R @b [eabe =0 2

A)  FRI6N siffE (coibr wiff) aier [Redits B bz
B) SIGLER w( (I *FIET O FIH) Ao 11 Fifed BT
C) (oI &l e el

(
(
(
(D) (eIb 9% (FCH ATICHR Sflf©
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55. WG TETE foura’ SRR BRAM 9 S 2
(A) fogrE s e o) 99
(B) ST (a1 HIGM THU SRR ) @GN Qifd A
(C) forama@ 'wi+ i & Armsta o™
(D) 92 BT SUATE B! AT

55. ford 3™ TR T Sie STe 1 JHI9 /M S & ?
(A) ZARRA T (Facwar =) § 7 & Fqred foeh w01 e e
(B) STl o AEH (A IR o 3174 W) W e @l 1 fem
(C) TG W= 1 BT
(D) HASH g H Yol i START

56. Fill in the blank :
Raju his intention to contest in the next elections.

(A) Wished (B) Conditioned (C) Declared (D) Promised

57. If 14+2+43+...+9+10=55 then 2+3+4+...+10+11="
(A) 65 (B) 66 (C) 64 (D) 62

57. M 1+2+3+...+9+10=55, (ST 2+3+4+...+10+11="
(A) 65 (B) 66 (C) 64 (D) 62

57. AW 14+243+...4+9+10=55 T O 2+3+4+...+10+11=2
(A) 65 (B) 66 (C) 64 (D) 62

57. S 1+2+3+...+9+10=55, 3=l 2+3+4+. . .+10+11="
(A) 65 (B) 66 (C) 64 (D) 62

57. A€ 1+2+3+...4+9+10=55, A 2+3+4+...+10+11="?
(A) 65 (B) 66 Q) 64 (D) 62
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58. Name the first Swargadeo of Assam.

(A) Suhungmung (B) Suhenpha (C) Sutupha (D) Sukapha
58. SPINE AL FA(NG 9B N TE 95 |

(A) B=R (B) prze ©) o= (D) g
58. SICINHR 2N F(Ne-4F W & I+ |

(A) TR (B) ez Q) T (D) Ir=w
58. T HRRM frfafas wrieser R ?

(A) & (B) T © HIw (D) GHIH
58. 799 % GAYYH WS T AH Ty |

(A) FETHT (B) T © HIw (D) GHH
59. Air: Eagle : : Water : ?

(A) Duck (B) Cuckoo (C) Pigeon (D) Ostrich
59. aIY 3 ol 22 7l ¢ 2

(A) Tz (B) fet € = (D) =R
59. Y 2 H9leT 82 G ¢ 2

(A) TR (B) e (C) =il (D) TG sifa
59. OR:eMSl::T:?

(A) T (B) <@ @l (C) RA (D) <T@
59. 93 WA ?

(A) @@ (B) whiFd (C) HIR (D) siifes
60. Zebra crossing lines marked on roads are meant for :

(A) Reducing speed

(B) Pedestrian crossing

(C) Giving preference to other vehicles

(D) Crossing of Animals
60. 2T A (G PR 52T @ TS 2 2

(A) SISt FIRE

(B) b1l Zeil Frsfly 2'4eat
() o 9ITIF walfaR s
(D) s Z2IF Bei 23
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60.

60.

60.

AW A (Sl F R el (@R 2
INERISSRERES(AS)

(B)  BIST A== 2e

(C) S A TlfEPIR (el

(D) i o[ 2el

e | S s e e i € 2
A) Ty @ gEwE
TR ATHT SRR

C) TFA MRERA @1 21

B

~

(
(
(
(

D) fS&-SFARERE! aREH!

Te& T 3ifehd Sie HIfHT @A foReeh forg Bt 8 2
A) TIfd wH BT

B) Ugat A T R

C) 3T A&l W MATHeRAT a1

D) SIHeRl 1 9THA

~

(
(
(
(

GET IT ON
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61.

61.

61.

61.

61.

Which word would appear at the last in a standard English dictionary ?

(A) JANUARY (B) OCTOBER (C) DECEMBER

B! MIF I SSYITS (FIFCH! *% GFHIE 1T A1 2
(A) JANUARY (B) OCTOBER (C) DECEMBER

&I *<7f5 G vl 330afS SfeUie Gl @I A 2
(A) JANUARY (B) OCTOBER (C) DECEMBER

A 1 3USH Fierd fogate o« diren SAfEHe I ?
(A) JANUARY  (B) OCTOBER (C) DECEMBER

ek SAUS IeehIST H, hiF-91 vIec ol fd | 1w ?
(A) JANUARY (B) OCTOBER (C) DECEMBER

(D)

(D)

MARCH

MARCH

MARCH

MARCH

MARCH
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62.

62.

62.
62.

62.

The maximum age limit to obtain a driving licence in India is

(A) 65 years (B) 70 years (C) 80 years (D) Age, no bar

TSNS GiZfeR FMiEme e FRET A TR I ST (202 |
(A) 653 (B) 703 (C) 803=F (D) IR (! I 2

SRS BIFWE S +1q (GIZfSR ™) e AR IOP 2 |
(A) 653 (B) 703 (C) 803 (D) |WOR @I et @2

IRara SR aedg fogam g sifgen s fawrn |
(A) @GR 65 (B) @ER 70 (C) @8R 80 (D) oI e

IR o gl AREd W i it Afuday g W § |
(A) 65 (B) 70 = (C) 80 = (D) 3T W g Ush al

63.

Name the punctuation mark “:".

(A) Comma (B) Colon (C©) Hyphen (D) Exclamation

64.

64.

64.

64.

64.

Identify the word which cannot be made by using the letters present in LEMONADE.
(A) LEAD (B) MADE (C) DEAF (D) DEAL

LEMONADE © 2l I¢[(Q199 FRIGE 917 S @RI #9061 Heiis 59 |
(A) LEAD (B) MADE (C) DEAF (D) DEAL

LEMONADE *[t% T#If%e S 721 0 910w 1 A7 1 %1416 ofee e |
(A) LEAD (B) MADE (C) DEAF (D) DEAL

LEMONADE 379 I gRahIS ofel Hieleg! <1 ' g/ ?
(A) LEAD (B) MADE (C) DEAF (D) DEAL

3H ¥%E &I 989 Sit LEMONADE # A5 31&R o1 START hich el o1 S Hehell 2 |
(A) LEAD (B) MADE (C) DEAF (D) DEAL
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1 1 1
65. The value of the expression | 1 = = || 1= = |{1— —]is:

2 3 4
1 1 1 1
(A) ¢ O — © 3 D) %
1 1 1
os. (1-5)(1-3)(1- 5 b
1 1 1
A) ¢ O — © 3 D) %
1 1 1
65. (1 - E](l - 5) (1 - Z)WWQ?{
1 1 1 1
A) ¢ B) 7 © 3 D) %
1 1 1
65. HRAEA (1 - E](l - 5) (1 - Z)ﬁnﬁﬁgﬁ:
1 1 1 1
A) ¢ O — © 3 D) %
65. efireafs (1 - %)(1 - %) (1 - ijwnﬁ%:
1 1 1 1
A) ¢ B 7 © 3 D) 5,

66. The maximum punishment for drunken driving as first offence is
(A) Upto 6 months imprisonment
(B) 10,000 /- fine
(€) 10,000 /- fine and upto 6 months imprisonment
(D) 20,000 /- fine

66. TBITE (T SNET Bl FRCeT 2T AT A A *N1fF T
(A) 6 Z 2T FIRMe

(B) % 10,000 /- I i<l

(C) 10,000 /- T TRERI S 6 MZ +FF A7

(D) 20,000 /- I SR
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66.

66.

66.

PTG 20 e BIFWIF Ty A 2RI REIE A =N =&
A) 6 7T T

B) 10,000 /- SRl

C) 10,000 /- SR G- 6 TFT 1T TS

(
(
(
(D) ¥ 20,000 /- SR=1

GET IT ON
Google Play

S Bt MR et Bf < gassen, fafq sifgaen s S |

A) TH 6 fam e wiferard A= WA
B) 10,000 /- SIRHM

(
(
(
(D) ¥ 20,000 /- SIHF

T H TS T W Uee! IR Y TRy Tl g

A) 6 TEA T I g

B) 10,000 /- ST SAM
C) 10,000 /- 1 AT 2R 6 T T A Hg

(
(
(
(D) 20,000 /- 1 JAMAT

C) 10,000 /- SREAMI 3R H 6 Tam S Aferare S ST

67.

67.

67.

67.

67.

Which of the following states does not share borders with Assam ?

(A) Nagaland (B) Bihar (C) Mizoram

RS @R 2 ST TS = 5 ?

(A) =elCeTe (B) == (C) Tcearw
o AR T (NG SR ANEIS! 77 2

(A)  isTTeTe (B) f (C) FrsEN
TR o6l THSH SRS FTH TAATSET ?

(A) ANTRE (B) fa=r (C) Tas'm|

freafafed § 9 SH-91 ToF 3198 & 91 9rHT 9ign 6l hidl § 2
(A) TS (B) fa=R (C) TSI\

(D) Tripura

(D) fasg

(D) fasga
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68.

68.

68.

68.

68.

A yellow coloured number plate on an Indian vehicle indicates :

(A) Electric vehicle

(B) Commercial vehicle
(C) Ambulance
(D)

D) Governor’s vehicle

CITO R AZT AL I AT (2 F I 2
(A) gfe

(B) 3fifers arew

(©) a3

(D) SreiiET

SIS ANGTS W I THACLT ! 0 ¢
(A) gfes anfe
(B) affers anfe
(C) =l ¢ SR e S (SngeEm)
(D) =i i

AR MR THR HeArE T e 2TseTl 7 FSis3al ?
(A) HifsaTasii @RI MR
(B) IS MR

(D) TESHTRE MR

YA a6 I Toet 11 &t Fellwie =R <9Il & 2

(A) fogdta ama
(B) @nfurfosren o

GET IT ON
Google Play
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69.

69.

69.

69.

69.

If 7 mangoes cost X 91, then the cost of 3 mangoes is :

(A) T28 (B) %35 (C) %37 (D) %39

I 7 Bt IwK Wi T 91 27, (O0F 3 B SN 7N ¢
(A) %28 (B) 35 (C) %37 (D) 39

T 7 % e wiw 291 =3 o) 3 5 e v =3
(A) T 28 (B) %35 (C) T37 (D) ¥ 39

oTg 7 TSI ST T 91 AT, T3 3 TSI ST o ?
(A) T 28 (B) %35 (C) T37 (D) T 39

Jfe 7 T} i KHAT 91 T, 1 3 3AH i HIAd © ¢
(A) 28 (B) %35 (C) %37 (D) %39

70.

70.

70.

70.

70.

A person purchases a defective item at I 1,500, repairs it at I 900 and sells the item at I 5,000. The
sales tax he had to pay is ¥ 100. The net profit percentage the person earns on selling the item is :

(A) 80% (B) 60% (C) 120% (D) 100%

G&e T2 @Bl T A T 1,500 © TF B T 900 (I GRS e 9= AM#W T 5,000 © [ S0 |
e 51 (9 T 100 R =@ w907 T 1 ARSI [RiE SR Tegzes oee 341 9 e ok
AR 2 ¢

(A) 80% (B) 60% (C) 120% (D) 100%

@3 & T 1,500 M @36 Ffboief a8 T 73, T 900 M T 76 @3k % 5,000 fea 7@t K 361 |
I (3 R 331 face zafeet ©f @3 100 | 60 Ras @ fes (b wifers sices ol 22 ¢

(A) 80% (B) 60% (C) 120% (D) 100%

T AAEE 18 M S 99eE! 2 1,500 9 SEAE 2900 1 wRm 8FE 25,000 1 wEieaeE | fo
%100 B A TSI 1AM |  JEREI HEAM {9 Fie QHEA™ G staraist smer -
)

(A) 80% (B) 60% (C) 120% (D) 100%

T A T 1,500 T Teh Te T TS §, T 900 T SHh! TIHT T © 3TR 37 %] 13 5,000 W o=l
Bl 30 S fash W FHAT A1 98 T 100 ¥ 1 TE] B 99 W A S Y5 o Favd ifd AT S a8 ©

(A) 80% (B) 60% (C) 120% (D) 100%
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71. What would come as the next character after B, E, J, Q ?

(A) T (B) U < W (D) Z
71. B, E,J, Q3 <! I! fF 2T 2

(A) T (B) U < W (D) Z
71. B,E, ], Q<3 “ae! orwafs [F 23 2

(A) T (B) U < W (D) Z
71. B, E,J, Q1 3@ 9« gi@ien S ?

(A) T B) U © W D) Z
71. B,E, ], Q% &I ST &R FAT S ?

(A) T B) U © W D) Z
72. What was the name of the capital of ancient Kamrupa Kingdom ?

(A) Darranga (B) Pragjyotishpur (C) Garhgaon (D) Itakhuli
72. b I AGF IS A% [ <A 2

(A) 7R (B) eeitemifedes  (C) erwsiie (D) 2GiYfer
72. SIS TN ACEH ASIT I A 6 e 2

(A) TR (B) eeitafensm  (C) rwsiie (D) ZBigert
72.  TRIM HEY TSI TSILE-1 S8 ?

(A) TR (B) YNSRI (C) TTEE (D) Irgedl
72. YT hIHEY FUSA I TSIHHT 1 =1 AH o7 ?

(A) = (B) IR (C) T (D) st
73. Lohri and Baisakhi are commonly celebrated in which state ?

(A) West Bengal

(B) Punjab
(C) Maharashtra
(D) Chhattisgarh
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73.

73.

73.

73.

T2 S TN o0 (FITe IS 2N 1 T 2
(A)  IFoRE

(B) g

(C) wzAg
(D) ey

T2 8 (I TR JeTe (i AT SRS = 2
(A) Ao

(B) g
(©) w2AIg

(D) eIy

AR AR SERERE 96 TSNS WA ST 2
A) A& 9T

(
(
(
(

Tt 3R a3 IR R o I H HAT S 91t @eR € ?
A)  9i¥=H S

B) U™

C) HeRTE

(
(
(
(D) BETg

74.

74.

74.

Which colour of paint is prohibited on vehicles except Defence Vehicles ?
(A) Orange (B) Saffron (C) Olive Green (D) Dark Blue

AfoTr Rl ME AW S NETS (&0 3 Fiw 2
(A) T (B) (o=l (C) TeTelE (oGl (D) =« el

ofoz oY A T S AR (@ 76 Wi 2
(A) T (B) corERl (C) Tl e (D) 4G «IeT
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74.

74.

o e T Y@t gt MR 3= s Mef MREre B /I ?
(A) TR-HFAM TS (B) T TE (C) SA®wE-Mime (D) | e e

T&TT T8 hl BISHT 3T aTeAl W vy {1 1 U2 afsia T2

75.

75.

75.

75.

75.

(A) R (B) @l (C) S (D) T el
When are the elections for Lok Sabha generally held ?

(A) Every five (5) years (B) Every four (4) years
(C) Every six (6) years (D) Every ten (10) years
ERPTSR 16 SAlRece @fom sgos =7 2

(4)  @fs =l (5) T2 03 I (B)  &ife bif (4) T2 3=
(©) efo = (6) T = I (D)  &if® 7= (10) T 3=
ERSTOIR 16w Aidiers & i sefoe =7 2

(A) @ #lb (5) = (B) o b (4) =A

© efow (6) 7= (D) afe ™ (10) 7=

qd sAwre foramera 'for

(A) ¥HER 54 3T @ S (B) ¥R 4 1 37 3@ S
(C) &R 6 T4 37 3= SH=I (D) MR 10 T 37 376 S
3 IR T AT % TS Hel B & 2

(A) WU (5) 9 H (B) W ¥R (4) Wit H

(C) WSB(6)HAH (D) ® TH (10) 91 |

76.

76.

76.

Rakesh is taller than Subodh. Their friend Atanu is the only one to be in the basketball team that
requires player’s height to be above six feet. According to height, who is in the middle ?

(A) Subodh (B) Atanu (C) Rakesh (D) Cannot be determined

I ITRICST €2 | (SEENTI I, O[3 GG [ ATHLIT WoTe TG [@9TSl SGie] IR0 TS
(XA THol RHH SIfEF 2] A7 | Tooo! SRR T FiTS (e AR ?

(A) I (B) ey (C) I (D) ffa sfa @=IR

AT AR GR T | O I, SO GG ARG W(e AP (QN9) IR Tl (ARG Goel
FCoA @M 20O 2 | ToHo! SERRIAT (F N F SR ?

(A) R (B) ey (C) A (D) izl <=1 3 =
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76.

76.

ThIN aufgs S | foeRf & sTagenel’ aehe Jaa TS 9’ Sere JHHET 9@’ S e
6 Fet Sfad S | Ssiers 7Y, 9R e ?

(A) g (B) g (C) TFW (D) g

ThYT, GaIe F el § | SThT S 3Ta] Sahesliel 319 H WfHe 8 o foie uenas e § formes for faenet
H FAE BT I H TR BT AT &1 HaTE o SITIAR 7 H D ¢ 2

(A) Hary (B) 3Tdq (C) TR (D) T T fohan ST wehal

77.

Mark the correctly spelt word :
(A) Essantial (B) Essentsial (C) Essencial (D) Essential

78.

78.

78.

78.

78.

The song “Poka Dhanor Majey Majey” was written by :
(A) Tafazzul Ali (B) Anandiram Barua
(C) Parbati Prasad Barua (D) Rudra Barua

“ofpl YIv] WS A& - AIS e eI 2

(A) owEgE ife] (B) SIS I=Al
(C) RS emm 7=l (D) % 374l

(A) SITEE Slet! (B) SIS =E
(C) IS 2= et (D) %% I

“ept oTR A AT HemsE ferel -
(A) TEIA el (B)  SAHfeT™ w%el
(C) i JHIE s%a (D) &g &l

"ot R A A T foRgen g1 ot T e ?
(A) qHSA Al (B) SAMENM &%
(C) TS JEE T3 (D) &g &%

79.

Which word in the following sentence is an Adverb ?
“The tiger is running faster”.

(A) Tiger (B) The (C) Faster (D) Running
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80.

80.
80.
80.

80.

Pongal is a winter folk festival primarily of which State ?
(A) Tamil Nadu (B) Bihar
(C) Madhya Pradesh (D) Punjab

CoAIRAIET 202 (I I JATOFET I (T TR 2
(A) oifiEEg (B) R==

'

(C) Wy (D) g

(IS ST (I ST G0 TSI (FF SR 2

(A) SIfiEwTE (B) faam
(C) wepET (D) AgR
T o TSI TSR Gef BRe ?

(A) I g (B) foem
(C) e gew (D) =T

il ;TR T 1 IdehTel ol e & 2
(A) dfferTg (B) fo=R

(C) e gew (D) U

81.

81.

81.

81.

81.

Which of the following communities of Assam features prominently in Rita Choudhury’s novel,
Deu Langkhui ?

(A) The Kacharis (B) The Mishings (C) The Tiwas (D) The Mottocks

ol G1ETIR T2 (ne =1kyE @ [WRETe (iR TemizE $2 272 T =g 2
(A) =S (B) frfbx © fea (D) o

ol GIETR THATPT (7S 1Y SPICR RS Temmeler S @b ReReiE T (o 2
(A) T2 (B) TFKR ) fem (D) 5=

Jar Sy gt ', 39 AR, A1 AHEH o9 gk G faen e ?
(A) FHBR (B) fufd (C) faan (D) #eH

B <t & 3T <8 AR § o1 & frefefad § 9 fRw weE w1 e 9w e ¥ 2
(A) wHBH (B) fufdw (C) faan (D) ¥R
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82. The number plate of an Electric Vehicle (EV) in India is coloured .
(A) White (B) Yellow (C) Green (D) Black
82. TITEIY® G @feS AE (EV) I 779 Fopa 9 |
(A) &N (B) == Q) g (D) 7l
82. ORICS @PeF A (EV) G T TS 16 28 |
(A) (B) = © H= (D) el
82. WRAME HifsrasTR MRA (EV) TR Sl el STrema |
(A) TR TS (B) TIHI T (C) e e (D) e e
82. YRA ¥ Toifdgek amed (EV) &l o) =i &1 &1 7
(A) g (B) rem © = (D) hreTl
83. Th llest fracti 220 d L.
. e smallest fraction amongst 56 7 an 3 1S :
A 2 B > C ° D z
(A - B) © - (D) 3
4 5 6 7 . i
83. -/ o VIR garﬂaww\am‘m g
A 2 B > C ° D z
456 7 v
83. 5,6,7613\86@31121]‘&?%?[!9?1% 7T ¢
A 2 B > C o D z
4 5 6 7 N N
83. g/ g/ ; eﬂﬁ g IREISLE) EISRIEISCICICIEH ISt e
A 2 B > C ° D z
4 5 6 7
83. g,g,;ﬁ'{gﬁﬂﬁlﬁ?)ﬁafﬂ:{%
A 2 B > C ° D z
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84. The fraction equivalent of the recurring number 0.222 . . . is :
11 B 1 C 3
49 ®) 9 © 19

84. (STWeo|fe@ 7R 0.222 . . . T FTIQeT ©ARH 8

1 o L o 2
49 ® 3 © 19
84. SIFE AT 0.222 . . . @ FPe SR T 2

1

1 3
A) 4 ® 5

84. 0.222...T71 TOM SrEE@ERE! fog

11 1 3
(A4) 7o ®) 3 © o

84. Tl GEAT0.222 ... % TG f9=1 ¥
1 1 O
49 ® 3 © 1

(D)

NR RN

O | N

O | N

O | N

O | N

GET IT ON
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85. What is presently the minimum age to be eligible for voting in the General Elections of India ?

(A) 21 (Twenty one) years (B) 20 (Twenty) years
(C) 18 (Eighteen) years (D) 16 (Sixteen) years

85. CRTS A FRKbTS STV (@il 270 IO PeTos| 2 fF 2
(A) 21 (49tF0) IR (B) 20 (R« =8
(C) 18(8%) IR (D) 16 (@H) IR

85. CRICeH MR FiGE (OfF e @ITOR Tely o3l T TSI F© 2
(A) 21 (ag) 7= (B) 20(Ffe) 7=
(C) 18 (TNR) I=A (D) 16 (CIIeT) I=A
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85.

85.

ATforETere YR werA foame o faamg’ 31 A0 sieTgan sEieT -

(A) 21 (3 /) dER (B) 20 (3 &) SR
(C) 18 (5 gr) drER (D) 16 (V7" ™R

RA o STH A6 H AAeH o T 91 B o folg aiHe H =JAa9 g =1 © 2

(A) 21 (3FhE) ad (B) 20 (s9) ad
(C) 18 (3%°RR) = (D) 16 (Hie®) T4

GET IT ON
Google Play

86.

86.

86.

86.

86.

Which of the following scale is used to measure earthquakes ?

(A) Richter Scale (B) Enhanced Fuzita Scale

(C) Volumetric Scale (D) Reaumer Scale

ARG (@G e ghm™e 2ike) GRS A IR 90 2 2

(A) fGR cgat B) e RO T
(C) SRIEEIGF 7 (D) @[ &

Gl 2{fTe17] S0 WHa (I (%1 98 [N 2

(A) FebiE cFe (B) NZIATC Fferel (Fe
(C) SRTETT e (D) R F

MR =8 Thetsil ST AT ?

(A) TR whd (B)  SRIEAT BTl Tohed
(C) WI<ISITe T The (D) T e

ehg AT o fore Freafafaa § 9 fore what o1 S9anT foran S & 2

(A) TRt wra (B) 31d Hieial whal
(C) difcrsHfes wha (D) T &hd
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87.

87.
87.

87.

87.

Babli was born a year after her parent’s marriage. At present Babli is six years old, and her father
is twenty five years older than her. If the father is two years older than his wife, at what age did
Babli’s mother get married ?

(A) 22 years (B) 23 years (C) 21 years (D) cannot be determined

forg-sed aiT YaesT forme AT o (2fert | 9N AR 591 = I SI<e fofes 3397 ©ize s 7 21
i | W foies TP (997 AGIN RTO(F 12 2F W1KF, (S0 KFale T2 JTe ARET S A {12 (2w 2

(A) 2237 (B) 233=A Q) 213=R (D) Fdfa sfa @RI

foreomer e O 929 #i7 IR0 &3 5 | TSI - T3 = 92, @92 ©IF forel Ol (20 A= qeea
G | M IR O FIF (AT 42 IR I 2 O, IRCR 3 T I8 I R0 IR 2

(A) 223 (B) 233 Q) 213 (D) fsfize <=1 3 =

areIferan fomr- T g SR 9 A6 SiFW JHel | T Setan § SR TR faf o fafgg = e
SR A | Jfe foe maf fafefrgs SR 3 <, st smafa fommn o Seiea e s ?

(A) A 193 9ER B) AfNameErR () ANIIER (D) THEIEEN

T T ST IHeh HIAI-TIT & IMET o Teh | o< goTl o1 | Fhemse Jeel 3 §a i § 3R 36k T
Y T O 918 € | A fyar oot uelt | <1 o oS €, < St i o7 i wmel fhe 5w H g ?

(A) 22 9 (B) 23 @ (C) 21 9 (D) @9 =&l fohan s wehal

88.

88.

The compensation for ‘Hit and Run” Motor Accident case resulting in death is
(A) Rupees One Lakh

(B) Rupees Two Lakhs

(C) Rupees Two Lakh Fifty Thousand

(D) Rupees Fifty Thousand

59 SICIT FI{l ARG 26 Qe I 212 FIOIS JOIeiae FRee Fioo@eq w_if+ (22
(A) @ o7 Bl

(B) W2 N G

(C) WY 2%k FeT Gl

(D) =l &R 5l
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88.

88.

88.

SHAANCT =l AT 25 qe A 52 GO e TP Tl FHo7ACR oIz

(A) 3T GRAl
B) Y2 Ol

(
(C) WZ T ~ize TSI Tl
(

D) “I%M YEIF Gl

GET IT ON
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‘g WR' R (fee wog TE) Her MR Sseme 9 geel {5 e 7w deema e

‘fee T W' Ao gofe e § g & foru <t S areft gerrerst st ufen §

A) TH dE T
B) T @ T

C) T IRE T4 TR T

(
(
(
(

D) UM SR T

89.

89.

89.

89.

89.

Find the odd one out.
(A) 436 (B)

ST AANCE! el 5 |
(A) 436 (B)

s o 2 e ¢
(A) 436 (B)

EERTCINEeE I
(A) 436 (B)

SIS T I T |
(A) 436 (B)

298

298

298

298

298

746

746

746

746

746

639

639

639

639

639
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90. Who of the following was amongst the first disciples of Srimanta Sankardev ?

(A) Madhabdev Lachit Barphukan

(C) Ananta Kandali Mahendra Narayan
90. RIS (@ 5! AT *FRE AL RRPTRT 9o =i 2

(A) W RIBSESER

(C) ST FWel N2W SR
90. (Y TERSTR (F JNE *RFAWMEE AL M My S0 Gven foiew 2

(A) @I Hlfo® F=Ew

(C) TG FWe! N2 e
90. TR WX WA Fio= sieptear Fifafe e wrf s 9™ 9 2

(A) HYRH e SRR

(C) = Husel Hes TR
90. frfafEd § ¥ M 4iHa vt & Tgel el § § 972

(A) WTHaed GUECRE e

(C) oa Hhefd Tews TR0
91. 121 + /81 + /25 is equal to :

(A) 121 (B) 81 (C) 25 (D) 36
91. 121 + /81 + /25 I ¢

(A) 121 (B) 81 ) 25 (D) 36
91. 121 + /81 + /25 &= I ¢

(A) 121 (B) 81 (C) 25 (D) 36
91. 121 + /81 + 25 = ST

(A) 121 (B) 81 (C) 25 (D) 36
91. V121 + /81 + /25 WA § :

(A) 121 (B) 81 (C) 25 (D) 36
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92.  Which of the following words would come first in an English Dictionary ?

(A) Hectometer (B) Decimeter (€) Kilometer (D) Centimeter
92. ¥ TAG] WwHTS RIS (FITCE! =7 20 wifed 2

(A) Hectometer (B) Decimeter (€) Kilometer (D) Centimeter
92. 5 (Pl *(6 A TS 2 OFIA 2

(A) Hectometer (B) Decimeter (€) Kilometer (D) Centimeter
92. TEEM 9 WRE SUfS ARE fagsta famitas I ?

(A) Hectometer (B) Decimeter (C) Kilometer (D) Centimeter
92. TrrfeiEd # @ -6 Weg SIS Asaehiel § Hod eed A1 2

(A) Hectometer (B) Decimeter (C) Kilometer (D) Centimeter
93.  Which word is the Synonym of STRANGE ?

(A) Abnormal (B) Complete (C) Strong (D) Perfect
94. A piece of land surrounded by water on three sides is called :

(A) Peninsula (B) Island (C) Isthmus (D) Atoll
94. 3 g% T Teel #{Ti SRR AN O (IRl 2 2

(A) TG (B) w7l ) @Es (D) eRETals
94, o e &@1 7l @fPe 4 2e S I ¢

(A) Toal (B) w7l Q) @Es (D) eRRETaIs
94, TERAMRY TSl SEAIH TEH BE TS -

(A) fewel (B) feu © wg (D) FemafeT e
94, TIF R ¥ A1 I ToRT g3 fH I hS FgA T :

(A) WP (B) &M (C) =T yf (D) T
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95.
95.
95.
95.

95.

Each angle of an equilateral triangle is :

(A) 90° (B) 60° (C) 45° (D) 30°
@B 2 fqges efech! (e e ¢

(A) 90° (B) 60° (C) 45° (D) 30°
@30 IR fqgre efofb (@i = ¢

(A) 90° (B) 60° (C) 45° (D) 30°
T TR 3T+ STRanf-eremmf @ 1 gt -

(A) 90° (B) 60° (C) 45° (D) 30°
T FHeTg Y 1 Y v H1 O T

(A) 90° (B) 60° (C) 45° (D) 30°

GET IT ON
Google Play

96.

Identify the Article in : The man was walking fast.
(A) man (B) walking (C) fast (D) the

97.

97.

97.

97.

97.

The penalty for driving at excessive speed by a Light Motor Vehicle driver is
(A) % 1,000/- to X 2,000/- (B) % 3,000/-
(C) R 500/- (D) % 5,000/-

g A 2T BITE SIfEF (F97S MS! SCAR 7 (2R
(A) % 1,000/- 9 2[RI T 2,000/ 0 (B) % 3,000/-
(C) % 500/- (D) % 5,000/-

Y AR BT Bl SToyis oI Qes HIeTai =) Sisliall 2a1
(A) % 1,000/- CATF T 2,000/- (B) ¥ 3,000/-
(C) % 500/- (D) ¥ 5,000/-

T TS e MR WA= Sigd MRt MR erEae g9 SEmmE Siend

(A) 1,000/- %@ % 2,000/- 97 (B) ¥ 3,000/-

(C) % 500/- (D) < 5,000/-
gooh HISY dTe dTeteh g1 ST Tfd & M Fef T i 7
(A) % 1,000/- & T 2,000/- TF (B) % 3,000/-
(C) 500 /- (D) % 5,000/-
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98.

Find the correct sentence :

(A) Please listen to what I am saying.
(B) Please listen what I am saying.
(C) Please listen to what I saying.
(

D) Please listen to what I is saying.

99.

99.

99.

99.

99.

The perimeter of a rectangle is 34 cm and the length is longer than the breadth by 7 cm. The area
of the rectangle is :

(A) 40 cm? (B) 60 cm? (C) 238 cm? (D) 64 cm?

Bl STerFAR AN 34 (5.7, W= 39 T ol 2% WAees 7 6. OfEF | STerTane GRare
ey

(A) 40 v.f2 (B) 60 (.fi.2 (C) 238 (b.fi.2 (D) 64 (5.2

@3 SerHCad AfRifK 34 G @R O T ACEE B 7 GIfl @ | STreTERGaR Ffet 24 ¢
(A) 40 G2 (B) 60 G2 (C) 238 AR (D) 64 GIRP2

AT At aRfifes faumn 34 9.f9. o fafq s srafgs 7 9.f9. afad)  smea
Shifer -

(A) 40 9.f72 (B) 60 H.f.2 (C) 238 9.f5.2 (D) 64 H.f.2

Teh 3T o1 URATY 34 Yt § 3R oamE, ek ¥ 7 At 1 §1 379 1 &5t
(A) 40 TP (B) 60 9§ (C) 238 G2 (D) 64 9?2

100.

Who is known as the Father of Indian Constitution ?
(A) Pt. Jawaharlal Nehru (B) Dr. Bhimrao Ambedkar
(C) Dr. Rajendra Prasad (D) Dr. Sarvepalli Radhakrishnan

100. O RS 29 FHCA T &=l AR 2

(A) “fee TR @25 (B) T° ShRIS WINPT
(C) T IT™ M (D) ©° SE5ET e

100. SIS AR o 2R #Ifdfoe & 2

(A) e Trezee (EE (B) T SINEIE S
(C) ©° AT =Am (D) ©° I ARFREA
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100. wRef Hfsfsef foreh MM | fafers 2

(A) . SRt T8% (B) T fummE smaTER

(C) = U&= 98- (D) ©. HaYcai! TETHH
100. AT HiGuM & ek o &9 8 fohE 1 ST § 2

(A) Y. STETEd 8w (B) . o faedt

(C) <. oig T (D) <. Feec qHRwH
101. The capital of Australia is :

(A) Sydney (B) Canberra (C) San Francisco (D) Sao Paulo
101. SR ISR (202 ¢

(A) feo (B) (el (©) = T (D) =S Tt
101. SCEEWE ST 8

(A) el (B) Il (C) AW FPPIE (D) Al 2ASTE
101. ST qSemai-= -

(A) foet (B) MM (C) ¥H wHfgE®' (D) HUE UEd’
101. Srefern it TS €

(8) feeh (B) T (C) e (D)
102. Who was the commander of Mughal army that was defeated by Lachit Barphukan at

102.

102.

102.

102.

Saraighat ?
(A) Man Singh (B) Vikram Singh (C) Vijay Singh (D) Ram Singh

*J2A59 T&@o AH® [FF e “_Iers (Ft (Woa G GRsifs @i e ¢

(A) TEPR (B) @ fig (C) Few i (D) = fr
*BAIE Mfoe TR F 27ifErs @ee emRiETR ERivfs & faem 2
SERICAEN (B) f@ P (C) few it (D) == fr

TUEHITE TMad sSREhsl ol ST Toe |-y ST FI-g TR R 1 ?
(A) == fH (B) fosrm 8 (C) foa 8 (D) U= fH

INEEE | Afad IR §RI RIS el ST 1 ST hiF o ?
(A) ¥mHfHg (B) fowrm fog (C) fasa fag (D) W g
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103.
103.
103.

103.

103.

What would be placed to continue the sequence 4, 6, 8, 12, 14, 18, *, *, 30 ?

(A) 20, 22 (B) 20, 24 (©) 20, 26 (D) 20, 28
4,6,8,12,14, 18, *, *, 30 *RX&AICH] SRIZS JIRCE (I AT IR A= 2

(A) 20, 22 (B) 20, 24 (©) 20, 26 (D) 20, 28
4,6,8,12,14, 18, *, *, 30 TN HIfeICH ASTR Ty F! I TH® 2

(A) 20, 22 (B) 20, 24 (©) 20, 26 (D) 20, 28
TRIRETSE! HTSi 3116 WA g ?

4,6,8,12, 14,18, %, *, 30
(A) 20,22 (B) 20, 24 (C) 20,26 (D) 20, 28

STHH 4, 6, 8, 12, 14, 18, *, *, 30 I ST T@ o foll, =11 T@N ST AT(6T ?
(A) 20, 22 (B) 20, 24 (C) 20, 26 (D) 20, 28

104.

104.

104.

104.

104.

The difference between the smallest of the 4-digit number and the largest of the 3-digit number
is

(A) 1 (B) 11 (C) 101 (D) 111

4 BTG [ToN TR TN 3 SRIYS A AT MG AL (202 8
(A) 1 (B) 11 (© 101 (D) 111

DI ST FHew IR I3 Fo S0wa Jgew TR Sy oA12 297 ¢
(A) 1 (B) 11 (©) 101 (D) 111

FAfTgE AT A9 4 FHASH T SERHE TR Safgg <X 19 3 A 91 SIS WRETRT -
(A) 1 (B) 11 (C) 101 (D) 111

4 311 T T B & 3R 3 ki i GG TSI Y& & s H 3R T :
(A) 1 (B) 11 (C) 101 (D) 111
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105.

105.
105.
105.

105.

After how many days must a newly registered vehicle renew the Pollution Under Control certificate ?

(A) 1 year (B) 2 years (C) 6 months (D) 3 years

TYI(E AG R 91 9 A2 el ey s7=o)ef FRCe 2yl fagel eiwiel #fg &3 7l 2
(A) 1= (B) 2= € 63 (D) 3=

G5 g RS (@TRIC) Azt T e Tsjf SaeeT el fFigel emisle (el 2T 27 2
(A) 19% (B) 29 (C) 63 (D) 39=

Y MR uftae s 98 Meamaft S 9efdd $T<R F=id | hRAFEE! a2
(A) 9ER1 (B) ®IER 2 (C) TH6 (D) @R 3

T T3 sl a1ed & fa -1 99 s1afyr qof 89 W gguur f=i=ror JHTor o Y STavash 2l § ?
(A) 199 (B) 29d Q) 6WH (D) 399

106.

106.

106.

106.

106.

To drive a Transport vehicle, an applicant must have a Light Motor Vehicle driving licence
atleast for how many years ?

(A) 3 years (B) 1 year (C) 2 years (D) 5 years

HAfFI%E A2 GRS FBp% HAIKS A SN JeTOH (F2 IS N 779 2o GiRfeR wiizmes A
A 2

(A) 3= (B) 1= € 2= (D) 5=

S{ZE A% BIETIR Tol) e SRR TN 6 IS oTY A% DIl Sjeelofg (GiRfee «izemi)
QPO B 2

(A) 39 (B) 1= (C) 2= (D) 5=

T Hell MR el 98 ot THeEs! 9f Menaft 3o qer MR i asa-a a=i- ?

(A) @ER 3 (B) ®ER1 (C) @ER2 (D) WER5

e e il SEfAT ARHH U & o Tt 3Toce & 99 HH § HH fhad ! doh 1 geeh HIeL amed
1 ST TEdd S ey ?

(A) 3= (B) 1= (C) 2= (D) 5=
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107. Which of the following places has the largest cricket stadium ?

(A) Dharamshala (B) Kolkata (C) Motera (D) Hyderabad
107. FEfie @G Zwe Iz fF s (RS e 2

(A) LT (B) el Q) el (D) ERM
107. ICOS (I SN FCHE @ [P (B wiieg 2

(A) g (B) el (C) Bl (D) TA@EM
107. TR osl ST <X fshehe wfeam €2

(A) TR (B) heThrd (©) W (D) =TSR
107. fr=fafed § @ forg oM © 9o w9 forhe Rfeam §2

(A) e (B) hIerehTal (C) X (D) ¥
108. Who found the sea route to India from Europe ?

108.

108.

108.

108.

(A) Christopher Columbus (B) Marco Polo
(C) Vasco da Gama (D) James Cook

3T(EIPF 7 SO MR 210! (@I [BifF Tleriz 1 2
(A) fEEwR TR (B) WE AT
(C) ©F T o= (D) (TNZFF

(F 2R (A SRS SR T@oi Y09 (AR 2
(A)  fFEoER FerEm (B) SITH (olleeT
(C) oITFl 7l oA (D) (TPIFF

IR YRAMGAT el Smmdl 91 G Uiel ?

(A) TR '"®R FHerverd (B) WR' U’
(C) IR g1 THl (D) ¥ FH
AT § ARG 3T 1 FHg! A6 fohd @ ?

(A) TR g (B) TR Ural
(C) =l € mH (D) S Feh
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109.

109.
109.
109.

109.

Which of the following is a Union Territory of India ?

(A) Jammu and Kashmir (B) Goa

(C) Sikkim (D) Telangana
RS (NG ST ¢F (FETe S 2

(A) oY O I (B) Cali

(C) Tofew (D) (SRS
T3 (FNT SiAred ¢ (FaiifTe e 2

(A) &Y 8 I (B) coman

(C) Pifew (D)  CoCeEEl
MM e YRa fHesni g staen ?

(A) S TR FHRER (B) Tl

(C) fafsrn (D) A&
frfafed § @ HH-91 IR &1 T Sy e 9o T 2

(A) T 3R HEHR (B) i

(C) foferm (D) e

GET IT ON
Google Play

110.

110.

110.

110.

110.

Which of the following is not the name of a Continent ?
(A) North America (B) South America (C) Arctic

S N ey

MRGIEe (FIE! OF T IS 727 2
(A) TeoiRE  (B) R OGRS (C) R

TN (G G0 T=ITCR I 77 2
(A) T&ROERE  (B) wREReNGIR (C)  JoRe

MM sel YA YA 7ST ?
(A) ET1 STHRR (B) @il oM (C) dHE

frefafed ®F-91 T TRIEY &1 Y TEé © 2

(A) 30 sfer  (B) SfEwW sERem (Q) W gE

(D)

Antarctica

GBI

afeTehfeent

111.

Which of the following equipments is mandatory for petrol vehicles of India ?

(A) Spare wheel
(B) Windshield wipers
(C) Catalytic converter
(D) GPS tracker
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111.

111.

111.

111.

S N oY

OITeF (2[5 BifeTs 9Tl Tjze MRfie @ik gl 20! Arare ?
(A) e[l 53

(B) T3ufRET 27T

(C) SFIRGI I FATEE ((FOAIZ0F FTSIOE)

(

) fefsiag (Gie

~—

)

SIS (PG BT IR &) MRS (@ TGN AT 2
(A) e oIl

(B) T3 €qiZAR

(C) SILG AT ((FOIRT FTeRBR)

(D) f&felaat Gyl

IRATE YISl Fifed MRERE MER 96 H9a1 TR 319 TS 2
(A) W TER

(B) STET TR

(C) herfdfed HAHRK

(D) SHd.TE. T

IRA & Y2 dreAl & fag frefafad § 9 -1 syeor ifed €2
A)  fafEa =

o~

B) fdesiice & aEW

C) AR Uiads (Hefafesh wmarx)

(
(
(
(D) e g

112.

112.

112.

The factor by which a decimal number is to be multiplied to shift the decimal point by three digits
to the right is :

(A) 10 (B) 100 (C) 1,000 (D) 10,000

(I G W= AT w{fe KB fofbl o Giieite BIgRe SR A0 AU [<el Ferall
ORFCH] (2R ¢
(A) 10 (B) 100 (C) 1,000 (D) 10,000

(@ QARG AR G0 (6T TRANF @9 T wiNs g 2= fon o v geke 21 ¢
EGE
(A) 10 (B) 100 (C) 1,000 (D) 10,000
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112.

112.

Y <9I SFHE! e GHSTRTRS GrsTeise] <3l fameiet STt S QST st ?
(A) 10 (B) 100 (C) 1,000 (D) 10,000

g G 9 U S ST i U ik Surerd foig ol i ikl & T IR TG foha S ¥, ®
(A) 10 (B) 100 (C) 1,000 (D) 10,000

113.

113.

113.

113.

113.

Ashmita Chaliha plays for India in which sport ?
(A) Badminton (B) Table Tennis (C) Lawn Tennis (D) Lawn Bowl

wf7rel 5leTRE (Y (ITe S (T (AT ?
(A) @IS (B) (53#1 (5= (C) &4 (Bfg (D) & 3

SFS! BoTal (T (LT SRR TR (U 2
(A) D (B) (Bf@ (B (C) = (BF (D) & &

AT SfcTern YRaH A9rE o6 TRERARAEE! Mot ?
(A)  def=ed (B) deel dfE (C) o df= (D) o 9

sfeqan =iferer fre B § IR & fau Qerdt & 2
(A) Sefied (B) <o | (C) @H ™ (D) @ a=d

114.

114.

114.

114.

114.

Which of the following is the name of a Continent ?
(A) Austria (B) Armenia (C) Andrea (D) Australia

TrRee T2 (PIFCET B! SR 1 2

(A) g (B) e (C) e (D) wgfer
SIHA (P G0 TR I 2
(A) SRl (B) gt (C) rfaexl (D) wcgfera
TR ser T WA SIeLHI § ?
(A)  &AfEr=n (B) sTRAfTN (C) Tt (D)  sTeAferan

frafafea § @ ®E-91 T 7RgY &1 T4 § 2
(A) A (B)  STH{Ta (C) Ttfegm (D) siegfemn

X
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115. By what factor a decimal number is to be divided so that the decimal point shifts by two digits to
the left ?
(A) 0.1 (B) 10 (C) 100 (D) 1000
115. @51 WIS AR M1 [Co! Y61 ST 1S FHACH BTRS TR0 290 BRI AN FAR2CH! ¢
(A) 0.1 (B) 10 (C) 100 (D) 1000
115. &30 Wi 74 Wil RS 120 2F e BHEke s [FeR 7ih 2799 F09 2 2
(A) 0.1 (B) 10 (C) 100 (D) 1000
115. HHE il SHfSHRE! TSl Teet g fargen stmfafy 9m 3 s Sragieis ?
(A) 0.1 (B) 10 (C) 100 (D) 1000
115. ot Svmers e 1 ford wRe 9 famfaa foran ST arfer <emera foig 21 oie o o) TemHiaia &1 S ?
(A) 0.1 (B) 10 (C) 100 (D) 1000
116. The decimal representation of 3/10 is :
6/5
(A) 0.5 (B) 0.75 (C) 0.65 (D) 0.25
3/10
116. o5 T T AT LI e 29 ¢
(A) 0.5 (B) 0.75 (C) 0.65 (D) 0.25
3/10
116. 2L — & wif¥es oM FRce o122
6/5
(A) 0.5 (B) 0.75 (C) 0.65 (D) 0.25
116. 210 i wurfires srarErER o i ;
6/5
(A) 0.5 (B) 0.75 (C) 0.65 (D) 0.25
116. /10 o1 gorerm fremr ¥ .

6/5
(A) 05 (B) 0.75 (C) 0.65 (D) 0.25
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117. A person purchases a defective item for I 900, repairs it for I 100 and sells the item for ¥ 1800. His
percentage of profit is :

(A) 100% (B) 80% (C) 90% (D) 180%

117. @G JFEC @61 Hoolefl AT T 900 © TF I, T 100 © 26 GRS F(F S AW T 1800 © [t
FE| (D€ ST 2R (22 2
(A) 100% (B) 80% C) 90% (D) 180%

117. 456 A& @6 GHo1el Tt T 900 B T I, T 100 SR GRITS FE @3 1800 T f&ffs
R e | O IS *oi] 28 ¢

(A) 100% (B) 80% Q) 90% (D) 180%

117. 9 A HE M S S@e@! 2 900 U sAH 2100 T %™ BHH 21800 TH wHfwT 1 fafa
WHEAE AR SrRE<eT S -
(A) 100% (B) 80% (C) 90% (D) 180%

117. TF Al Th G (defective) T& 1 T 900 H T B, T 100 H IHeAT TR Il © IR 39 a% I
1800 T SrerdT ¥ | STRT A1 v © :
(A) 100% (B) 80% (C) 90% (D) 180%

118. Which country was Winston Churchill a Prime Minister of ?

(A) United Kingdom (B) Brazil

(C) United States of America (D) Switzerland
118. 33 BIffe (FL (T LN i 2

(A) Fozgeaw (B) aifew

Q) SRS geaIg (D) pIERCETS
118. TIH BIfbe (Pl (05 ALl e 2

(A) I&Arey (B) Jifem

Q) =i TR (D) ZEeTe
118. o afdaen 99 JeX TeR gy ?

(A) TR fohem (B) WISl

(C) SRR WI2TE TR (D) SRS
118. fowea afda forg <91 & o= O3 9?2

(A) FAEeE fored (B) SISite

(C) I T THRER (D) faeels
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119.

Which of the following is a proper noun ?
(A) Big Ocean (B) Wide River (C) Deep Lake (D) Pacific Ocean

120.

“Two weeks from now, the festivals would start”. Identify a single word substitution of the
underlined phrase.

(A) Weekend (B) Month (C) Fortnight (D) Year

121.

121.

121.

121.

121.

The area of a square is 169 metre?. The measure of the side of the square is :

(A) 17 metre (B) 19 metre (€) 12 metre (D) 13 metre

5! F9FaT (AT (202 169 WHIR2 | 19(CFaGR A2 (ed 29 ¢
(A) 17 [RER (B) 19 foR (C) 12 [RoR (D) 13 fSoR

(G Jafa FifeT 169 62 | F6ifox e Mot =7 ¢
(A) 17 o= (B) 19 fow Q) 12 o= (D) 13 fo®

9 S IfAdn 169 m2, o S ARET~e AT S .
(A) 17m (B) 19m € 12m (D) 13 m

T I BT AAHA 169 HISL2 R | I shi 9ol T A9 ¢
(A) 17 "X (B) 19 HiX (C) 12 #HirX (D) 13 HiX

122.

What is a collective noun for dancers ?

(A) Troupe (B) Gang (C) Panel (D) Board

123.

Identify the Conjunction in the sentence :
Rakesh and Subham are good friends.
(A) Are (B) Good (C) Friends (D) And

124.

124.

The 2020 Summer Olympic Games was held in which country ?

(A) South Korea (B) Japan (C) China (D) Singapore
T e 2020 TR ST (451 e (2w 2
(A) W Rt (B) Sl (C) B (D) fxeliom
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124.
124.

124.

2020 TSP SRAAHF GIol (@ (e Scafers zafee 2

125.

125.

125.

125.

125.

(A) W i (B) e (C) ©M (D) v
2020 et seRfT siferfaes e J81 SarE 2

(A) el & (B) SIUH (C) =M (D) famgR
2020 TsASRTEA feifus Tt form <o | emeifsa forn 3 2

(A)  <faor wifn (B) <MUH (C) =M (D) famR
The place value of ‘5" in 425639 is :

(A) 5600 (B) 25000 (C) 5000 (D) 5639
425639 ‘5’ T BT Wi CZ(T 2

(A) 5600 (B) 25000 (C) 5000 (D) 5639

425639 AR ‘5’ G BT T 2
(A) 5600 (B) 25000 (C) 5000 (D) 5639

425639 @ ‘5’ T omafaari |mEm |1 2
(A) 5600 (B) 25000 (C) 5000 (D) 5639

425639 H ‘5’ R TAME HH ©
(A) 5600 (B) 25000 (C) 5000 (D) 5639

126.

126.

126.

126.

Who amongst the following led the 1857 rebellion against East India Company ?

(A) Rani Ahilya Bai (B) Rani Laxmi Bai

(C) Chand Bibi (D) Rezia Sultana

37 2Rl (@il Ketm 1857 bie (271 Raies MRfie @F R[S (g M ¢
(A) [ =fze e (B) ST o1 Al

(C) v &R (D) @& perek

s TraiorR W (& 25 2T @R [ReEca 1857 AR [Riaig (Tog Mafke™ 2
(A) TN orZeT Al (B) T o1 Al

(C) ©vwRE (D) @fe= vl

TR 3 I SRE 1857 1 W aRAEE R SSHTHH ?

(A) THI e =18 (B) Tl wieHt g

(C) =< fafs (D) XS e
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GET IT ON
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126. Tmfafed § 9 frem S Sfean ot & faems 1857 & fagie 1 A fwan ?
(A) T stfeeE o (B) Tt et o
(C) e Sffsft (D) St gerdr
127. Identify the correctly spelt term.
(A) Traffic Single  (B) Traffic Signel (C) Traffic Signal (D) Trafic Signal

127.

127.

127.

127.

B QTS 25! e w5 |
(A) Traffic Single  (B) Traffic Signel

AT ARG = (s e e |

(A) Traffic Single  (B) Traffic Signel
e 1 Hieer o -

(A) Traffic Single  (B) Traffic Signel

TE ST St I <hl B |
(A) Traffic Single  (B) Traffic Signel

©

Traffic Signal

Traffic Signal

Traffic Signal

Traffic Signal

(D)

(D)

Trafic Signal

Trafic Signal

Trafic Signal

Trafic Signal

128.

128.

Which of the following is not mandatory for a commercial vehicle in Assam ?

(A) Vehicle Registration (B)
(C) Pollution Under Control

Night Driving permit
(D) Fitness Certificate

TR MefET A (Fqe MRS (FFT AT T8 2
il 9IS BRI Sijeel #@

(A) T AGRA (B)
(C) =9 fFagere 4

(D) TogEOR ANeTg

128. o3 (I SPIcs Afelfens il ey ATOREs 78 2
(A) TR R (B) TS N BIENEIR Sl 2[g
(C) =il feiarmcel AP Tict=ia (D) ToR Z=ide
128. TN MRGIA! T ST+d1 STHHETe THIeR 7T 2
(A)  TRE 9f~<EE G (B) MG | T
(C) TS TaUAE wffthehe (D) fweTw wféfrhe
128. 3199 H Afooe amed o fau fefafea & 9 w0 stfad 7@ §2
(A) 9TE TSRl (B) i grsfa wite
(C)  wguu fra=or § g (D)  SUHEKIAT Shl GHTUTTS
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129. Why are Red and Blue lights used in Ambulances ?

(A) To alert all drivers, even those with colour blindness
(B) Because they look good

(C) Red stands for danger and Blue for emergency

(D)

D) They can be seen from far

129. GHEIETIZS 36! ST e 31126 67 I8 T4 &7 2
(A) TTCE DTS, SIS AT AR, oS FS A
(B) (WHIre O @l (RS A
(C) 8 ITCel [oW SR el IR0 TRA P SR B
(D) V& “41 (dl (oA R

129. SOPCETE (& & @ «{1e7 e AT 1 27 2

(A) TR HIerE AT AW If(Fel S(E SIMECS Tk I Sely
(B) <P Q%@ (FATS Il

(C) =& S Rviw @R e A Tea

(D) STl & (A (74l A

129. TR MRATE AHI TS TR e maf Sfere smeeEe S ?
(A)  TIEE ARITHRE!, ST e @1 foER@ts, Fi e
(B) IS TAE@™
(C) TSI WRIE Wi R TR e g@me M1 ST hRAm
(D) & MABRE! TSIAAEREA! Tl

129. TRl § ot iR el afar sl STEnT S S § 2
(A) et gEadl I o A * foau, F@T 7 foR T sturam arer Snl R ot |
(B) Hifr 9 o= fomn ¥
(C) T T EaX ol WM & AR el sTarderren feerfa & faw T
(D) 3= T <@ 5T Fhal |
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130.

What does “get out of hand” mean ?
(A) To walk away
(C) To become uncontrollable

(B) To be very slippery

(D) To getlost

GET IT ON
Google Play

131. Fill in the blank : Pradhan is a driver.

(A) Good (B) Better (C) Expert (D) Best
132. The HCF of 12, 24 and 30 is :

(A) 2 (B) 3 ) 6 (D) 12
132. 12, 24 9% 30 F 5P (2R 3

(A) 2 (B) 3 <) 6 (D) 12
132. 12, 24 @33R 30 EF 9IS 27 ¢

(A) 2 (B) 3 ©) 6 (D) 12
132. 12,24 3T 30 7 <.eman foga -

(A) 2 (B) 3 ©) 6 (D) 12
132. 12,24 3R 30 = HeTH FHUES ©

(A) 2 (B) 3 Q) 6 (D) 12
133. Who presents the Union Budget of India ?

(A) The Finance Minister
(C) The Home Minister

(B) The Prime Minister
(D) The President of India

133. ST (FUR ACSH (I WIfe] FF 2

(A) fend (B) HHINE!

(C) o=@ (D) S qgfe
133. (3 SRCSA (X STITF (IS Wi F 2

(A) Rewdg (B) AdeNE!

(C) =G wal (D) SRTeR AGAfS
133. YRA STETE Yeesra 9R hramE] ?

(A)  TAR 71y (B) TS HAMY

(C) &R HAfY (D) HRAM TRRATR
133. 9Rd ¥ SHelg ool i T T € 2

(A) o w30t (B) 9N HAl

(C) TREHA (D) WRd & Teafd
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134.
134.
134.
134.

134.

The new name for Twitter is :

(A) AXE (B) XX (C) EAX
DEDI e I ¢

(A) AXE (B) XX (C) EAX
DEBIC ol I 25 ¢

(A) AXE (B) XX (C) EAX
Z3eRM TeE &1 12

(A) AXE (B) XX (C) EAX
feaet Ao W %

(A) AXE (B) XX (C) EAX

GET IT ON
Google Play

D) X

135.

135.

135.

135.

135.

In which country did Mohandas Karamchand Gandhi stay before coming to India ?

(A) South Africa (B) Uganda (C) Egypt

oiToca IR 12 7T (I FII oI T (G (i Sifest 2
(A) wEF s (B)  2UeNel C) o

TICS S S9! (W I R T i (et oot 2
(A) R Pl (B) ol (C) T

qRATe i fom qeae e TR 99 gedd AqEEie ?
(A) e SAhept (B) =l ) fam

YA 3TH F T8l Hle1ed HiFsc Ml frg e d ®Ww® 972
(A) <fequr sTmteRt (B) el ©) fum=

(D) Sri Lanka

(D) &

(D) A=
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136.

136.

136.

136.

136.

A sequence of numbers is written in such a way that each number is greater than the preceding
number by 3. Starting the sequence from —2, the 10th number in the sequence is :

(A) 23 (B) 25 (C) 28 (D) 30

TR GBI T GGV SR Ao ST AL 2T 279 MG 3 SfEF | TG —2 (@ ST FRCEA
B RIS SRAICET T2 ¢

(A) 23 (B) 25 (C) 28 (D) 30

TR GFH T ITOIE (@14 W (@ 2ol el s[7ST MU (507 3 TF | — 2 (A T ©F FAE
bR 10 O I =03 ¢

(A) 23 (B) 25 (C) 28 (D) 30

Y S TRIfET TiRafe fer Sei St forma e AAwme st Mt farmeTa e sHfsgs
3 e | IR — 2 it SRereet, i 10 o i -

(A) 23 (B) 25 (C) 28 (D) 30

Al 1 T 3 39 YR foan S § fob uciss g fuseht 9 e 4 3 ifys &1 ST &l —2 9 3%
F W, THA FI 1091 T& T

(A) 23 (B) 25 (C) 28 (D) 30

137.

137.

137.

137.

137.

Identify the item which is not of same type.
(A) Payment (B) Rent (C) Price (D) Bill

FRICH! A1 21 =W, (312 AMCG! e 5 |

(A) AR (B) wiul (C) (D) S
G G A 28T 2D ANG e |

(A) Afey (B) Gl (C) T (D) SR
W@ Y e fem |

(A) BN (B) 9 (C) =&H (D) foa

I 2732 ] YA Hi S Ueh & JhR i 78l € |
(A)  TdH (B) Tt (C) Hd (D) foa
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138. Identify the Antonym of WORST.
(A) Better (B) Best (€) Good (D) Fantastic
139. Choose the correct option : Teacher Puja for her bad handwriting.
(A) Scold (B) Scolding (C) Scolded (D) Scolder
140. The armies of East India Company defeated Siraj U” Daulah at which battle ?
(A) Battle of Buxar (B) Battle of Plassey
(C) Battle of Nalapani (D) Battle of Jhelum
140. (L JF© 28 A @R CHIZ DIaSwm =F s[ifers TR 2
(A) TERTT (B) RI6H =
(C) WEATR & (D) TR &
140. (39 J07 235 2T @7 EHRIRA Presre »[ifere sl ¢
(A) IWNEE L@ (B) ~RIfE Y=
(C) «=NfE Itm (D) REGE =
140. 3= sfrea wEMEI JFEmh fous 3 el 59 EerEmE w2
(A) TR TRl (B) TEl <ol
(C) FreraTAf el (D) S Sreret
140. 3= e St 6t It 3 fovst 3Een &t fhg g o & ?

(A) TRR FH IS (B) IHl I g5
(C) reTart 1 g (D) oo™ # IS

141.

Which Pronoun can be used to refer to your friends running at a distance ?
(A) We (B) It (C) That (D) They

142.

142.

142.

Maximum speed limit for Motor cycles on Municipal Roads in Assam :
(A) 80 km/hour (B) 70 km/hour (C) 60 km/hour (D) 50 km/hour

SPTR (TR TR 2128 S5 BIREa1d AN ool 5ifS T (% 8
(A) 80 RfL/a%  (B) 70 Bf/AGI Q) 60 FfL/=H (D) 50 [efN /2D

SRR (TR eI AT (5 ARG AT STl 8
(A) 80 RfL/a%  (B) 70 Bf/AGI (C) 60 FfL/=H (D) 50 [N /ED
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142.

142.

ST ATRHTETR ATHETE HeR Gigehall arar ifg=en e fagmn -
(A) 80 fefa/s=1 (B) 70 fwmfa/s=1 (C) 60 fwmfa/s=1 (D) 50 f&.fA./5=0

3 H TRUeTeh Tgehi W Ak defea & fou sifsan wfa S @ -
(A) 80 ferHi/sa (B) 70 ferHi/sian (C) 60 Teri/sa (D) 50 ferHi/sie

143.

143.

143.

143.

143.

In which sport did Deepa Karmakar represent India ?
(A) Badminton (B) Shooting (©) Gymnastics (D) Table Tennis

Tl TIPS (FARY (UoTe vl dfefiing TRl ¢

(A)  @ORG (B) #fx () fewmifem (D) (53 (Bfg
Tl IR SRS (T G 1o Afsiing Ffe 2

(A) TG (B) ®fGe (C) TermmfRGaq (D) (GR& G
YT HHBRT YRAH ARG A7 A ?

(A) wsfied B) e (C) TomIfEeed (D) dee |

a1 FHHR F f7E @ § 9IRa 1 gfafafae foan ?
(A) defied (B) Iqfem (C) TomRead (D) 9@ fa

LN

144.

Which of the following is the Article in “Our instructor asked us to push the car” ?
(A) The (B) Instructor (C) Push (D) Asked

145.

145.

145.

145.

145.

The Bordubi Tilinga Mandir is near which town ?
(A) Bongaigaon (B) Dhemaji (C) Tezpur (D) Duliajan

Fqd foferel IFE (e F991 T 7IS SRFS ?

(A) T=iesife (B) (aif& C) (ST (D) WeTrIGI
@ief Bferel Az (@ === B0 2

(A) <=iolfe (B) (XIS Q) ST (D) wferarea
sgfa faferet wia 99 ARk w2

(A) ST (B) TSt (©) IR (D) gferams
Srgst fefem 6 forg s & T ¥ 2

(A) ST (B) et (©) WIR (D) gferars
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146. The sum of the angles of a quadrilateral is :

(A) 90° (B) 180° (©) 360° (D) 400°
146. €5 GOSTA (e ITZF [ (I 8

(A) 90° (B) 180° (C) 360° (D) 400°
146. <6 POOIEH (ST @G (As=ret 247 ¢

(A) 90° (B) 180° (C) 360° (D) 400°
146. HH rEf-orsi 7 & R Srerer -

(A) 90° (B) 180° (C) 360° (D) 400°
146. T TqSI o HI0N 1 AMT BT & :

(A) 90° (B) 180° (©) 360° (D) 400°
147. Which of the following is correct ?

(A) Good : Better : Best (B) Good : Gooder : Goodest

(C) Best: Bester : Bestest (D) Better : Betterer : Betterest
148. Jonki and Panei are characters of a story based on which community ?

(A) Dimasa (B) Idu Misimi (C) Mising (D) Singpho
148. R SR AL (@ TEMRT [ofe T 121 215 901 bl ?

(A) fouy (B) 32y fbfi (C) fafbe (D) foscad
148. X[ S it (i ARG Tl fofe vl @b sitem oa 2

(A) TSI (B) 2 il (SEREIEN (D) P
148. ! AR I 99 FIRMA 9'a ' o1y -

(A) feamn (B) 3g fafafm (C) fafa (D) fow’
148. Siieht 3R 7% ford TYE™ W enfd Fert & U § 2

(A) femm (B) g fafad (C) fafgm (D) &
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149.

149.

149.

149.

149.

The triangular shaped traffic road sign falls in the category of
(A) Mandatory (B) Informative (C) Cautionary (D) Emergency

farI eIpfon Tiv-are 712 B! R T wwee, @Rl tae |
(A)  JATORERE (B) IHAIeT® (C) TTEFOIETE (D) TRIET

fage wigfen i Az @ @fe wwsfe = |
(A)  TEORETE (B) PARETE (C) TFOIETT (D)  ERFAIPIET AT

ARG T WA ST 7ekf itk SREmat g2t |

(A)  faemsTi (B) @RisTR (C) HHeTR (D) =@ THIIeTR
Rt SRR 1 AT e fowg g goft § o € 5% g
(A)  sfemd (B) g=HIHSR (C) wEHN (D) AIIdhTA

150.

150.

150.

150.

150.

If 12 mangoes cost X 300 and 15 apples cost I 450, then the total cost of 4 mangoes and 3 apples
is:

(A) %290 (B) 109 (C) %190 (D) ¥ 209

T 12 B =I5 %I 300 B 15 B! T2 WSl T 450 27, (90 4 B SN SNi% 3 B e T A 0 2 ¢
(A) 290 (B) 109 (C) T 190 (D) % 209

Ifr 12 6 =R wis T 300 @22 15 B oiteTa wis T 450 23, O 4 6 =i @32 3 6 =iteicea (06 wiw =7 ¢
(A) T 290 (B) < 109 (C) %190 (D) ¥ 209

SIS o 12 STgSiT S8 % 300 3T ™ 15 SATHA( ST 450 S, STse o1 4 ATgsit 3T o1 3 STt

SO ST ST -
(A) T 290 (B) 109 (© %190 (D) R 209

Ifg 12 =1 T FHEd T 300 3R 15 el St HTA T 450 B, @1 4 A 3R 3 el St FoT A ®
(A) T 290 (B) ¥ 109 (C) T 190 (D) T 209

-000-
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